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The following table shows the income and expenditure (in ¥ millions) of a certain Company during
the five years from 2018 - 2022, along with profit % and loss % incurred in all these years. Some
values are missing in the table (indicated by ') that you are expected to calculate if required.
Based on the data in the table, answer the questions that follow.

Year-wise Income, Expenditure and Profit/Loss of a Company

Year |Expenditure (in3 millions) | Income (in¥ millions) | Profit %(+) / Loss %()
2018 192 . +15%

2019 248 = s

2020 210 . +20%

202 - 359.6 :

2022 £ : -12%

Sub questions

Question Number : 1 Question Id : 87827021473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Profit in 2020 is % more than in 2018 :
(1) 56.76

(2) 44.98

(3) 45.83

(4) 59.82
Options :

87827084941. 1
87827084942. 2
87827084943. 3

87827084944. 4

Question Number : 2 Question Id : 87827021474 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2022, if the expenditure of company was 15% more as compared to 2019, then the income of the
company in 2022 was (in < million) :

(1) 250976

(2) 248.976

(3) 250936

(4) 230.936
Options :
87827084945. 1
87827084946. 2
87827084947. 3

87827084948. 4

Question Number : 3 Question Id : 87827021475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[£ the loss incurred by the Company in 2019 was ¥33.2 million more than the profit of the Company
in 2018, then the loss percent incurred by the Company in 2019 was :

) 17%
) 2%
) 25%
) 23%
Options :
87827084949. 1
87827084950. 2
87827084951. 3

87827084952. 4

Question Number : 4 Question Id : 87827021476 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2021, if the profit percent (%) of the company was higher by 60% of the profit percent (%) in
2018, then the percent increase (approximately) in the expenditure of the Company in 2021 as
compared to the previous year would be :

1) 4%
Q) H%
(3) 41%
@) 38%
Options:

87827084953. 1
87827084954. 2
87827084955. 3

87827084956. 4

Question Number : 5 Question Id : 87827021477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the average of the income of the Company in 2018 and 2020 (in < million) ?
1) 2208
) 2364
3) 2522
4)  246.6

2

— — |

Options :

87827084957. 1
87827084958. 2
87827084959. 3
87827084960. 4



Question Id : 87827021472 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 87827021473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

2020 H B3 &9 2018 & &9 § fehdd % Af¥eh g2

(1) 56.76
(2) 44.98
(3) 45.83
(4) 59.82

Options :

87827084941. 1



87827084942. 2
87827084943. 3

87827084944. 4

Question Number : 2 Question Id : 87827021474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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4) 230.936
Options :
87827084945. 1
87827084946. 2
87827084947. 3

87827084948. 4

Question Number : 3 Question Id : 87827021475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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87827084949. 1
87827084950. 2
87827084951. 3

87827084952. 4

Question Number : 4 Question Id : 87827021476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084953. 1
87827084954. 2
87827084955. 3

87827084956. 4

Question Number : 5 Question Id : 87827021477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 2208
(2) 2364
(3) 2522
(4) 246.6

Options :



87827084957. 1
87827084958. 2
87827084959. 3

87827084960. 4

Sub-Section Number : 2
Sub-Section Id : 878270954
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827021478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The organised bodies of information stored in memory that bias the way new information is
interpreted, stored, and recalled is known as

(1)  Constructive process
) Schemas
3)  Chunks
)

Association
Options :
87827084961. 1
87827084962. 2
87827084963. 3
87827084964. 4

Question Number : 6 Question Id : 87827021478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827084961. 1
87827084962. 2

87827084963. 3
87827084964. 4

Question Number : 7 Question Id : 87827021479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the components of pedagogical analysis of teaching and learning ?
(A) Objective formulation

(B) Selection of teaching methods and materials

(C) Content analysis

(D) Selection of evaluation devices

Choose the correct answer from the options given below :
(1) (B), (€)and (D) Only

() (A) and (D) Only
(3) (A) () (C)an (D)
(4) (B)and (C) Onl
Options :

87827084965. 1
87827084966. 2

87827084967. 3



87827084968. 4

Question Number : 7 Question Id : 87827021479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084965. 1
87827084966. 2
87827084967. 3

87827084968. 4

Question Number : 8 Question Id : 87827021480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  In teacher centred learning the teacher gives up the traditional decision making
role and chooses instead the role of a facilitator who focuses on students feelings.

Statement I In learner centred method the teacher attempts to see the world as the students
see it, creating an atmosphere of empathetic communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

878270849609. 1

87827084970. 2

87827084971. 3

87827084972. 4

Question Number : 8 Question Id : 87827021480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084969. 1
87827084970. 2
87827084971.3

87827084972. 4

Question Number : 9 Question Id : 87827021481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  Theability o generate unusual, yet appropriate, responses to problems or questions
15 known as convergent thinking,

Statement IT :  The ability to produce responses that are based primarily on knowledge and logic
is known as divergent thinking,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

87827084973. 1

87827084974 2

87827084975. 3

87827084976. 4

Question Number : 9 Question Id : 87827021481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



EECER RIS
®OAL: R S T T S, TRl S el ) 9 5 e ()

B et feem & 0 8 99 T e

H I T SR S e A () ) T 9 O A 2
R A7 foe & A A g

T FH 3 A1 B, A for 7o e © 8 A o

(1) FRIERFRIT T §
() TR FR 1 o §
() TURITA 3, T FoR 1 5 ¢
(4) T HE ¢, ffor o 1160 ¢

Options :

87827084973. 1
87827084974. 2
87827084975. 3

87827084976. 4

Question Number : 10 Question Id : 87827021482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : No test provides a perfect picture of a student's abilities and skills.
Reason (R) : A test s only one small sample of a student's performance,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
(4) (A)is not correct but (R) is correct

Options:

87827084977. 1

87827084978. 2

87827084979. 3

87827084980. 4

Question Number : 10 Question Id : 87827021482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



87827084977. 1
87827084978. 2
87827084979. 3

87827084980. 4

Question Number : 11 Question Id : 87827021483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An epistemological position that advocates the application of the methods of the natural sciences
to the study of soctal reality and beyond, refers to

(1) Positivism

2)  Interpretivism
3)  Objectivism

)

(
(
l

Constructionism
Options :
87827084981. 1
87827084982, 2
87827084983. 3

87827084984. 4

Question Number : 11 Question Id : 87827021483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827084981. 1
87827084982. 2
87827084983. 3
87827084984. 4

Question Number : 12 Question Id : 87827021484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the similarities between quantitative and qualitative research :
(A) Both are concerned with data reduction.

(B) Both are concerned with variation in data.

(C) Both lay emphasis on contextual understanding,

(D) Both lay emphasis on generalization.

(E) Both are concerned with answering research questions.

Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (A), (B), (D) and (E) Only
(3) (B) (D) and (E) Only

(4) (A), (B) and (E) Only
Options :

87827084985. 1

87827084986. 2



87827084987. 3
87827084988. 4

Question Number : 12 Question Id : 87827021484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084985. 1
87827084986. 2
87827084987. 3

87827084988. 4

Question Number : 13 Question Id : 87827021485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the correct reasons for writing a literature review :
A) You need to know what is already known in connection with your research area.

I

(

(B) It may help you to develop an analytic framework.
(C) It will help with the interpretation of your findings.
(D) It may suggest further research questions for you.

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B), (C) and (D) Only
(3) {A) () and (D) Only
(4 (4), (B) () and (D)
Options:

87827084989. 1
87827084990. 2
87827084991. 3

87827084992. 4

Question Number : 13 Question Id : 87827021485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084989. 1

87827084990. 2

87827084991. 3
87827084992. 4

Question Number : 14 Question Id : 87827021486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the sampling issues that are problematic in online surveys :
(A) Many people use more than one internet service provider.

(B) Every person has only one (unique) email address.

(C) A house hold may have one computer but several users.
(D) Internet users are a biased sample of the population.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2)  (B), (C) and (D) Only
(3) (A), (B)and (D) Only
(4)  (A), (C) and (D) Only
Options:

87827084993. 1
87827084994. 2
87827084995. 3

87827084996. 4

Question Number : 14 Question Id : 87827021486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084993. 1
87827084994. 2
87827084995. 3

87827084996. 4

Question Number : 15 Question Id : 87827021487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is an open source software for data analysis ?
(1) SPSS

(2) MATLAB
3) R

(4) MINITAB
Options :
87827084997. 1
87827084998 2

87827084999. 3



87827085000. 4

Question Number : 15 Question Id : 87827021487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084997. 1

87827084998. 2

87827084999. 3

87827085000. 4

Question Number : 16 Question Id : 87827021488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

When the primary function of communication is to convey new information, it is known as
1) Subliminal function

8 Single task function
(3) Referential function
(4) Differential function
Options :
87827085001 1
87827085002. 2

87827085003. 3



87827085004. 4

Question Number : 16 Question Id : 87827021488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085001. 1
87827085002. 2
87827085003. 3

87827085004. 4

Question Number : 17 Question Id : 87827021489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

One of the four maxims of conversation, quantity maxim, reflects the right amount of :
(1) Paradigms

(2) Syntagms

(3) Similes
(4) Information
Options :
87827085005. 1
87827085006. 2

87827085007. 3



87827085008. 4

Question Number : 17 Question Id : 87827021489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085005. 1
87827085006. 2
87827085007. 3

87827085008. 4

Question Number : 18 Question Id : 87827021490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following contextual factors determine meaning in communication behaviour ?
A)  Physical locafion

B) Participants

(
(
(C) Preceding events
(D) Nonfunctional goals
(E) Absence of audience

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
() (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

878270850009. 1
87827085010. 2
87827085011. 3

87827085012. 4

Question Number : 18 Question Id : 87827021490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270850009. 1
87827085010. 2
87827085011. 3

87827085012. 4

Question Number : 19 Question Id : 87827021491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following belong to the field of proxemics in communication ?
(A) Facial expressions
(B) Crowding
(C) Territoriality
(D) Personal space

(E) Eye contact

Choose the correct answer from the options given below :
(1) (A), (B) and () Only

(2)  (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4) (A) (D) and (E) Only
Options:

87827085013. 1
87827085014. 2
87827085015. 3
87827085016. 4

Question Number : 19 Question Id : 87827021491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad # 9 -9 =R 4 gHe fomn & &5 9 et € 2

(A) HEH FEE

(B) fe-wre

(C) YIewiHa

(D) SAfemTd &

(E) =g Hh

i feu 1 fosedl ° 9 WEr I F T FifC:

(1) < (A), (B) 3T (C)

(2) 94 (B), (C) 3 (D)

(3) < (C), (D) SR (E)

(4) I (A), (D) 3R (E)
Options :

87827085013. 1
87827085014. 2
87827085015. 3

87827085016. 4

Question Number : 20 Question Id : 87827021492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to Buddhism, linguistic communication should be used to adopt moral
stance.

Statement (1) : Critical introspection is not preferred by Buddhists as part of intra-personal
communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827085017. 1

87827085018. 2

87827085019. 3

87827085020. 4

Question Number : 20 Question Id : 87827021492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A fem E:
HL: A o o R, ST SR 1 e A 9 A i o o o frn o e

TR A 2 ST e & sl don o e & w0 o oo 7 & 9
2l

T O o i , A fou T ol ¥ 9 W S 9 @i
(1) B HR I T2

(2) TR B IS o €

() FRITA §, o w11 9 2|

(4) TR R 3, T R 1 2



Options :

87827085017. 1
87827085018. 2
87827085019. 3
87827085020. 4

Question Number : 21 Question Id : 87827021493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n an arithmetic series having 50 terms, the first and last terms are 3 and 199, respectively, What is
the sum of the series ?

(1) 4950
Q) 3050
B) 5150
@) 4850

H=

Options:

87827085021. 1
87827085022. 2
87827085023. 3

87827085024. 4

Question Number : 21 Question Id : 87827021493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

50 Vel el T e et H Jom o St 08 A 3 AT 199 € 36 Sl & AW # g
(1) 4950
(2) 5050
(3) 5150
(4) 4850



Options :

87827085021. 1
87827085022. 2
87827085023. 3
87827085024. 4

Question Number : 22 Question Id : 87827021494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the next term (?) in the following letters series AM, GJ, MG, SD, 7, ...
(1) XZ

Options:

87827085025. 1
87827085026. 2
87827085027. 3
87827085028. 4

Question Number : 22 Question Id : 87827021494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fe S1ar Sf@el § el Ug (?) o1 vl @ |
AM, G] MG, SD, , ..oovme.

(1) XZ
(2) YC
(3) XA
(4) YA



Options :

87827085025. 1
87827085026. 2
87827085027. 3
87827085028. 4

Question Number : 23 Question Id : 87827021495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum and difference of two numbers are 19 and 7, respectively. What is the sum of their
squares ?

) 190
) 200
) 205
) 210

3

1
2
k
(4
Options:

87827085029. 1
87827085030. 2
87827085031. 3

87827085032. 4

Question Number : 23 Question Id : 87827021495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T HET AN T SR FH: 19 SR 7 § 1 37H G H AT F R ?
(1) 190
2) 200
3) 205
)

(
(
(4) 210



Options :

87827085029. 1
87827085030. 2
87827085031. 3
87827085032. 4

Question Number : 24 Question Id : 87827021496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A certain sum of money doubles in 4 years at a compound rate of interest per annum. The rate of

interest is [Given ; 2/2 = 1414, 2/ = 1.1892)

1) ~149%

Q) ~168%
3) ~189%
(4

S |

) ~12.9%
Options:
87827085033. 1
87827085034. 2
87827085035. 3

87827085036. 4

Question Number : 24 Question Id : 87827021496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T S Y TG R AN H RANT AT G ARG
[9&T : 21/2 =1414, 21/4=1.189)]

(1) ~149%

() ~168%
(3) ~189%
[4) ~12.9%
Options:
87827085033. 1
87827085034. 2
87827085035. 3
87827085036. 4

Question Number : 25 Question Id : 87827021497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A train moving at a speed of 63 kmy/hr enters a railway station and crosses the platform in 20 s,
If the length of the train is 100 m, what is the length of the platform ?

1) B0m
2 Mm
3 B0m
4 30m

Options :

87827085037. 1
87827085038. 2
87827085039. 3
87827085040. 4

Question Number : 25 Question Id : 87827021497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

63 F 7/ T 0 T8 O S T A W o € 4R e 6 208, 5 R
?Ihiamaaﬁaamoﬁaé,wmﬁmﬁmﬂ?
150 Fiet

Options :

87827085037. 1
87827085038. 2
87827085039. 3

87827085040. 4

Question Number : 26 Question Id : 87827021498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per square of opposition which of the following propositions are so related that if one of them
is true, the other must be false and vice-vessa ?

(A)  All mammals are vertebrates,

(B) No mammals are vertebrates.

(C) Some non mammals are not vertebrates.

(D) Some mammals are not vertebrates.

Choose the correct answer from the options given below :
o) (¢ ()Onlv

@) (4and (O)On

(3) (A)and (B) Only

(4) Q) and (D) Only

Options :

87827085041. 1



87827085042. 2
87827085043. 3

87827085044. 4

Question Number : 26 Question Id : 87827021498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fote a1 % oy et 9 i 9 7 o 3 e e € o o 5 9 0 & o e
9 T A fefe €7

(A) W we BE) 2 2

(B) S o TR e ) 2 ¢

(C) F8 - W] 74l 20 ¢

(D) 9 T HeE) 7 2 €

aﬁéﬁwﬁwﬁ'ﬁﬁuﬁmﬂwﬁm

{ A) 3 D)
2 T (C)
(
(

=
~+ & =
)

(
(
3) |
4

=

B
D

—

)
)
)
)

R

)
El
) AR

=

C
Options :

87827085041. 1
87827085042 2
87827085043. 3
87827085044. 4

Question Number : 27 Question Id : 87827021499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent ?
(A) No liquids are beverages.

(B) No beverages are liquids.
(C) All non-beverages are non-liquids.
(D) All non-liquids are non-beverages.
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (A)and (C) Only
(3) (B) and (D) Only
(4) (C) and (D) Only
Options:
87827085045. 1
87827085046. 2
87827085047. 3

87827085048. 4

Question Number : 27 Question Id : 87827021499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=1 5 9 o9 | FeF aifthe 99 979 € 2
(A) FIE it T T wered T B

(B) hrs i U UeTe TR &I B ¢

(C) Gsft R-U7 yered IR-A B B |

(D) B\eft TR-a 1R-97 uered & B

9 fau Tu fasredl § 9 WEr ST 1 =TT HIfC:
(1) =had (A) TR (B)

(2) HFA (A) 3R (Q)
(3) ad (B) ¥R (D)
(4) FEE (C) R (D)
Options :

87827085045. 1
87827085046. 2
87827085047. 3
87827085048. 4

Question Number : 28 Question Id : 87827021500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are not squares” is given as true, then according to the square of
opposition which of the following statements can by immediately inferred to be false ?

(1) All rectangles are squares,

(2) Some rectangles are squares,

(3)  No rectangles are squares.
e

4)  Some squares are not rectangles.
Options :
87827085049. 1
87827085050. 2



87827085051. 3

87827085052. 4

Question Number : 28 Question Id : 87827021500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 TR 59 9 T A0 ¢ 9 6 WA IR ¢ foe o o g e 4§ fom A 9
TR A ST fo o el )

(1) 6 o B

) T3 g E

() 4 o o 7 2 2
(4) 8 T 9 TR 2 ¢

Options :

87827085049. 1
87827085050. 2
87827085051. 3

87827085052. 4

Question Number : 29 Question Id : 87827021501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"More laws have been added on the books in past five years than ever before, yet the number of
crimes committed during the same period has significantly increased. Therefore, to bring the crime
tate down, we must eliminate the laws”. Which fallacy is committed in the above statement ?

(1) Red herring

2) Straw man

3)  Slippery slope
4)  False cause

(
(
(



Options :

87827085053. 1
87827085054. 2
87827085055. 3

87827085056. 4

Question Number : 29 Question Id : 87827021501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"o e o e f e o el e s e e 0 ety i e 6 S e
1 5 I 9 3 19 A A o o e o e | S

Options:

87827085053. 1
87827085054. 2
87827085055. 3

87827085056. 4

Question Number : 30 Question Id : 87827021502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to classical Indianschool of logic(Nyiya) the argument “Sound s eternal
because it is audible” is fallacious.

Statement (1) : According to classical Indian school of logic the argument “Sound is eternal
because it is audible” commits the fallacy of irregular middle term where the
middle term is too wide.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2

(2) Both Statement I and Statement IT are incorrect.
(3) Statement 1 is correct but Statement I1 is incorrect
4

4)  Statement I is incorrect but Statement II is correct,

Options:

87827085057. 1
87827085058. 2
87827085059. 3
87827085060. 4

Question Number : 30 Question Id : 87827021502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 ) A foU T
WO 1: ST A P o o o 3 e & i 7 e e 9 e ¢

FURI1: T IR 27 7 & R e IV & i 7% 9 ¢ 4 e 04
Y ¢ 7 99 G o4 oA

TS B % e H, el o0 T o] A 9 R SR A
(1) TR TR T

() 1R HR IS o £

) FMIT §, et Ho 11 00 21

) TR A £, o o 1L 2

Options :

87827085057. 1

87827085058. 2

87827085059. 3

87827085060. 4

Question Number : 31 Question Id : 87827021503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In comparison to secondary computer storage, primary storage is :
(1) Slower, more expensive per unit of storage and persistent
(2) Faster, less expensive per unit of storage and persistent
(3) Faster more expensive per unit of storage and not persistent
(4) Faster, less expensive per unit of storage and not persistent
Options :

87827085061. 1

87827085062. 2

87827085063. 3

87827085064. 4



Question Number : 31 Question Id : 87827021503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fgdiorer HogeX JYeRU &1 qor §, Wi ser
(1) e, wfg e dero sifier weien ik gad € S
(2) i, 9fd gfe sieru F9 weien SR gaqd g §|
(3) g, fd e sierw sifusw wiien IR gad =& e g1
(4) =, 9fd gfe vero w9 Gt IR gad & e ¢ |
Options :
87827085061. 1
87827085062. 2

87827085063. 3
87827085064. 4

Question Number : 32 Question Id : 87827021504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A security system records video footage. One minute of video requires 180 MegaBytes of storage.
The recording system can store several hours of video footage. How much storage would be needed
for 2 hours of video footage ? (1k =1024) :

(1) 192 Giga Bytes
(2) 203 Giga Bytes
(3) 211 Giga Bytes
(4) 224 Giga Bytes
Options:

87827085065. 1
87827085066. 2

87827085067. 3



87827085068. 4

Question Number : 32 Question Id : 87827021504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T U T el ey () e e €1 O e ol f T st 190 e
SR it 1 e o o W2 3 o o s o T §12.98 % e 3 faw
fo e T A SR 27 (1k=1024)

1) 192 TeEe
) 203 ek
) 211 TR
) 204 TIREE

Options :

a2

(
2
g
(4

87827085065. 1
87827085066. 2
87827085067. 3

87827085068. 4

Question Number : 33 Question Id : 87827021505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
If (P)g represents the number P in base - 8, then (144)s + (175)q =

(1) (225)4
(2) (341)g
(3)  (441)
(4) (314)q
Options :

87827085069. 1



87827085070. 2
87827085071. 3

87827085072. 4

Question Number : 33 Question Id : 87827021505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g (P)g 99 - 8 H P =l T €, dI(144)g + (175)g =

(1) (225)g
(2) (341)4
(3) (441)g
(4) (314)g
Options :

87827085069. 1
87827085070. 2
87827085071. 3
87827085072. 4

Question Number : 34 Question Id : 87827021506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : IPv6 address in computer networking is 4 times larger than an [Pv4 address

Statement (I1) : The IP address gives the location of a device on the Internet, whereas the MAC
address identifies the device connected to the Internet

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2
3
(4

) Both Statement I and Statement II are incorrect.
) Statement I is correct but Statement 11 15 incorrect.
)

Statement I is incorrect but Statement II is correct,

Options:

87827085073. 1
87827085074. 2
87827085075. 3
87827085076. 4

Question Number : 34 Question Id : 87827021506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A ferm E:

WO (1) O Yo [Pvd T 1 T [Pt TS 4 T 991 2 ¢

®OA (1) [P UG 20 W fo 97 ) afiefs Ve 0 € 0% MAC U TR 8§ e A
Rl 4 £

TS 9 35 e A, A for T fovedt 2 W A

(1) B HR I T2

(2) TR B IS o €

() FRITA §, o w11 9 2|

(4) TR R 3, T R 1 2



Options :

87827085073. 1
87827085074. 2
87827085075. 3

87827085076. 4

Question Number : 35 Question Id : 87827021507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - IL

List - I List - II
(Graphical User Interface Term) (Description)
(A) Window () Represents a folder or a progtam - can be seen
within a window or free standing on screen
(B) Icon () Contains lists of options for a certain program
(C) Menu () Used toselect menu options/icons/ close/open
windows
(D) Pointer (IV) Represents an area on the screen that displays

information for a specific program
Choose the correct answer from the options given below :

(1) (AR, (BMD (CH{ID, DHIV)
) (BHIV), (CA

(2) (Al ) (DA
(3) (ARIV), (BHD) (CHID), (DM
(4 (AMT), (B)-{), (CHLV), (DHI)
Options:

87827085077. 1
87827085078. 2
87827085079. 3

87827085080. 4



Question Number : 35 Question Id : 87827021507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl § 11 91 o aifee;

Tl Tl
(T3 TeleRT SIS ) (o)

1) fig () T 4o T 51 291 € - ffg) o e afee o
R 9 8 9 9 ¢

B & (1) 39 forh T &g e 1 et €

0 W (1) 38 T ¥, frey e el e el o 7
o foe fon s &1

D) &R (IV) B T & e ot & o o o feo
) & &

At few T foedl o 9 T I 9 A

(1) (AW, (B0, (CHID, (DHIV

(2) (AKD), (B-V), (CHI), (DA

(3) (ANIV), (B, (CHI). (DA

(4 (AKD, B}0, (O4IV), (DA

Options :

87827085077. 1
87827085078. 2
87827085079. 3

87827085080. 4

Question Number : 36 Question Id : 87827021508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about Producer Gas ?
A) Ttis the result of conversion of solid biomass into gaseous fuels.

(
(B) Itis done at lower temperature.

(C) It can be used as fuel in internal combustion engines.

(D) Itis produced in the complete absence of oxygen.

(E) Hydrogen and methane present in Producer Gas determine its heating value.
Choose the correct answer from the options given below :

(1) (4), (B)and (C) Only

(2)  (B)and (D) Only
(3) (C), (D)and (E) Only
(4) (), (C)and (E) Only
Options:

87827085081. 1
87827085082. 2
87827085083. 3

87827085084. 4

Question Number : 36 Question Id : 87827021508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e T & A | Fretfeted § & PH-9 98§

(A) 7 3 99 Tefa ¢ et fom & Wi 7 ¥iowd g

(B) @ UM R ol ST €

(C) 3w WA STk Cg 3919 W 38 o %Y ¥ fohel & el € |

(D) 8 aieier o forl e foen 1l &1

(F) e g ¥ suftery/fed areion oiR o e o fruifid &% €
A fou e foredl H 9 W& I T FIC

{ (A), (B) & (C)
2

3
(

)
)
)
4)
Options:

87827085081. 1
87827085082. 2
87827085083. 3

87827085084. 4

Question Number : 37 Question Id : 87827021509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The convention on biological diversity is dedicated to promote sustainable development conceived
as a practical tool for translating the principles of :

(1) Agenda 20
(2) Agenda2]
(3) Agenda 22
(4) Agenda 23

Options :

87827085085. 1



87827085086. 2
87827085087. 3

87827085088. 4

Question Number : 37 Question Id : 87827021509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e fafaem e fe fagi ) wrfen < & fod oo / fTes e & %9 4 e
T foe 1 9 ¢  felt Wi 7

()

) g
() A 2
) B
Options :

87827085085. 1
87827085086. 2
87827085087. 3

87827085088. 4

Question Number : 38 Question Id : 87827021510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the correct sequence of steps followed from initial to last during water treatment process ?
(A) Coagulation

(B) Filtration

(C) Screening

(D) Sedimentation

Choose the correct answer from the options given below :

(1) 0)©) B) (4)

2) (D) (), (&) ()
3 (€. 0) ) 6)
(4) (O O) (B), (&)
Options:

87827085089. 1
87827085090. 2
87827085091. 3

87827085092. 4

Question Number : 38 Question Id : 87827021510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T S Y o U SR T et e o e (e ) afem) o o s

(A) e

B) e

(€)

D)

A fe 0 feeredl o WY O A T @i
(1) () (©) (B) (A)

2 (D) (©) )@

3) (© ) (A) B

4 (© ) B) (A)



Options :

87827085089. 1
87827085090. 2
87827085091. 3
87827085092. 4

Question Number : 39 Question Id : 87827021511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : DDT bioaccumlates in tissues of many species including humans.
Reason (R) :  DDT is relatively insoluble in water but readily soluble in fats and ofs.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
4

4)  (A)is not correct but (R) is correct

Options:

87827085093. 1
87827085094. 2
87827085095. 3

87827085096. 4

Question Number : 39 Question Id : 87827021511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1% 21 % fou T o et (A) 3 9 A ffe € 9 g ek e () % 9 €
ATV (A): T T e o Tt 6 e 9 A 9 W A

FAOT(R): SIS O WU FETOI) €0 ¢ i a9 N 0§ S 6 e 2 ¢
TS B % A W, el 150 T o] ¥ 9 g S A

(1) S (A) 4% (R) T & 4 (R), (4) F T @ R

() < (A) 4R (R) T & o (R), (A) 1 A
B) (A)FE T (R) o §

(&) (A) 78 € ©lf (R) T €

Options :

87827085093. 1

87827085094. 2

87827085095. 3

87827085096. 4

Question Number : 40 Question Id : 87827021512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements ;

Statement (1) : Millennium Development Goals (MDGs) were mainly targeted at developing or
poor countries.

Statement (I1) : Sustainable Development Gaols (SDGs) are targeted at all countries whether
developed, developing or poor.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect,
(3) Statement I is correct but Statement I1 is incorrect.
(4)  Statement I is incorrect but Statement I1 is correct.

Options :



87827085097. 1
87827085098. 2
87827085099. 3

87827085100. 4

Question Number : 40 Question Id : 87827021512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085097. 1

87827085098. 2

87827085099. 3

87827085100. 4

Question Number : 41 Question Id : 87827021513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following was recommended by the Hunter Commission ?

(1)  Abolition of higher education in India

(2) Restricting women's entry into colleges

(3) Participation of private enterprise in higher education

(4) Encouraging establishment of more and more public universities in rural India
Options:

87827085101. 1

87827085102. 2

87827085103. 3

87827085104. 4

Question Number : 41 Question Id : 87827021513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085101. 1

87827085102. 2

87827085103. 3
87827085104. 4

Question Number : 42 Question Id : 87827021514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The University of Punjab was established at lahore in 1882 to reduce the burden of the university
of :

) Bombay
) Calcutta
) Madras
) Himachal Pradesh

1
2
3
(4
Options:

87827085105. 1
87827085106. 2
87827085107. 3

87827085108. 4

Question Number : 42 Question Id : 87827021514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

1233

Options :

87827085105. 1
87827085106. 2
87827085107. 3
87827085108. 4

Question Number : 43 Question Id : 87827021515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following steps were taken by the university grants commission during the second
five year plan?
[ntroduction of three-year degree course
B) Improvement in libraries and laboratories

D) No new departments were approved in the universities

(

(

(C) Increase in the salaries of universiry teachers
(

E

—

Hindi was made the optional medium of instruction besides local languages in all Indian
universities
Choose the correct answer from the options given below :

(1) (&), (B) and (C) Only
(2)  (B), (C) and (D) Only
) (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

87827085109. 1
87827085110. 2
87827085111. 3

87827085112. 4

Question Number : 43 Question Id : 87827021515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085109. 1

87827085110. 2

87827085111. 3

87827085112. 4

Question Number : 44 Question Id : 87827021516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following research institutes were established between the first and third five year
plans ?

(A) Indian Institute of Science

(B) Saha Institute of Nuclear physics

(C) Lok Bharati

(D) Gandhi Gram Rural Institute

(E) Raman Research Institute

Choose the correct answer from the options given below :
(1) (), (B)and (C) Only

(2) (A), (D) and (E) Only

(3) (B),(C) and {£) Only

(4) (8)(C)and (D) Ony

Options :

87827085113. 1
87827085114. 2
87827085115.3

87827085116. 4

Question Number : 44 Question Id : 87827021516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el i e e A o He Frefeten 4 9 f Y S ) e 6 o)

Options:

87827085113. 1
87827085114. 2
87827085115.3

87827085116. 4

Question Number : 45 Question Id : 87827021517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The Nalanda University of ancient India attracted students from various parts of
Asia,

Statement (II) : The Nalanda University was overshadowed by the universities in Europe and
Arabia immediately after its establishment.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827085117. 1

87827085118. 2

87827085119. 3

87827085120. 4

Question Number : 45 Question Id : 87827021517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085117. 1
87827085118. 2
87827085119. 3
87827085120. 4

Sub-Section Number : 3
Sub-Section Id : 878270955
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827021518 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer the questions :

The most important part of a person’s life is his childhood. The learning our young citizens receive
at home, in school and in society between the ages of five and sixteen will shape them for the rest
of their Lives. during this phase, they need a good value based education to become enlightened
human beings.

Parents and teachers need to have an integrated mission : education with a good value system at
home and in school. Education is fundamental to building the nation of our dreams. All our
aspirations as a society are tied to the capabilities of our youngsters, who form such a large part of
our population.

A child's individuality and creativity need to be given due importance in our education. The
curriculum needs to be mnovative and the examination system overhauled so that it recognizes
and evaluates creativity and new thinking rather than the memorization of facts. Schools must
move away from being centres of education alone, instead becoming centres of knowledge and
skill development.

Sub questions

Question Number : 46 Question Id : 87827021519 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child becomes an enlightened human being as a result of the value based education received ;
(A) At home only

(B) Inschool only

(C) At home, in school and in society
(D) Insociety only

(E)  Between the ages of five and sixteen

Choose the correct answer from the options given below :
(1) (4) &(E) Only

2 WDk ()Only
) ()& (E)Onl

4 (A& ()OHIY
Options :

87827085121.1
87827085122. 2
87827085123. 3

87827085124. 4

Question Number : 47 Question Id : 87827021520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is essential for building the nation of our dreams ?
(1) More schools
Value based education

—
L3 D
e

(
(

Options:

) Democracy
) Rapid Urbanization

=

87827085125. 1

87827085126. 2



87827085127. 3

87827085128. 4

Question Number : 48 Question Id : 87827021521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Who need to have an integrated mission : education with a good value system at home and in
school ?

(1) Politicians

(2) Philanthropists

(3) Parents and Teachers
(4)  Businessmen
Options:
87827085129. 1
87827085130. 2
87827085131. 3

87827085132. 4

Question Number : 49 Question Id : 87827021522 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A good examination system should :

(A) Recognize a child’s creativity

(B) Recognize a childs individuality

(C) Encourage rote learning

(D) Encourage new thinking

Choose the correct answer from the options given below :
(1) (A), (B) & (D) Only

(2)  (B) & (C) Only

(3) (A), (B) & (C) Only
(4) (O & (D) Only
Options:

87827085133. 1
87827085134. 2
87827085135. 3
87827085136. 4

Question Number : 50 Question Id : 87827021523 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [:  Schools should only be centres of education.
Statement IT:  Youngsters form a minimal part of our population.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect,
(3) Statement s correct but Statement I1 is incorrect.
(4)  Statement s incorrect but Statement 11 is correct
Options :

87827085137. 1



87827085138. 2
87827085139. 3

87827085140. 4

Question Id : 87827021518 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827021519 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827085121. 1
87827085122. 2

87827085123. 3

87827085124. 4

Question Number : 47 Question Id : 87827021520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085125. 1



87827085126. 2
87827085127. 3

87827085128. 4

Question Number : 48 Question Id : 87827021521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085129. 1
87827085130. 2
87827085131.3

87827085132. 4

Question Number : 49 Question Id : 87827021522 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827085133. 1
87827085134. 2
87827085135. 3
87827085136. 4

Question Number : 50 Question Id : 87827021523 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085137. 1

87827085138. 2

87827085139. 3
87827085140. 4

Konkani
Section Id : 878270685
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Section type: Online
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Number of Questions : 92
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Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 878270956



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827021524 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827085141. 1
87827085142. 2
87827085143. 3

87827085144. 4

Question Number : 51 Question Id : 87827021524 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827085141. 1
87827085142. 2
87827085143.3
87827085144. 4

Question Number : 52 Question Id : 87827021525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085145. 1

87827085146. 2

87827085147. 3
87827085148. 4



Question Number : 52 Question Id : 87827021525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827085145. 1

87827085146. 2

87827085147. 3

87827085148. 4

Question Number : 53 Question Id : 87827021526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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87827085149. 1
87827085150. 2
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Question Number : 53 Question Id : 87827021526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
(1) %= SIS Uit Tfda=-g- shell &,

(2) W= gHaaETl foarad T S g
(3) W HieRETE] deceidl Tfaa afere &,
(4) W SeIETEt SHitSeh fa=meEd tfade e g,

Options :

87827085149. 1
87827085150. 2
87827085151. 3
87827085152. 4

Question Number : 54 Question Id : 87827021527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

“An examination of literacy texts (including works of literacy theory and criticism) is more than
one language, through an investigation of contrast, analogy, provenance or influence or a study of

literacy relations and communications between two or more groups that speak different languages”

Options:

87827085153. 1



87827085154. 2
87827085155. 3

87827085156. 4

Question Number : 54 Question Id : 87827021527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

“An examination of literacy texts (including works of literacy theory and criticism) is more than
one language, through an investigation of contrast, analogy, provenance or influence or a study of

literacy relations and communications between two or more groups that speak different languages”

Options :

87827085153. 1
87827085154. 2
87827085155, 3
87827085156. 4
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Correct Marks : 2 Wrong Marks : 0
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87827085160. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827085158. 2
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87827085160. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
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87827085161. 1
87827085162. 2
87827085163. 3

87827085164. 4

Question Number : 56 Question Id : 87827021529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I feocl a8l @I=1 dlhae Wehiid STEITEdrd ?

3l HEFer=Al Tl T
37T e Heal Fdred]
UehTHeh! 3adl 918 Hrerdredr !’

(1) <=i=d

(2) e

(3) el

(4) el

Options :

87827085161. 1



87827085162. 2
87827085163. 3

87827085164. 4

Question Number : 57 Question Id : 87827021530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) o
2) wm
(3) ol @
(4) BR
Options :

87827085165. 1
87827085166. 2
87827085167. 3

87827085168. 4

Question Number : 57 Question Id : 87827021530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) o
Q) wm
(3) Tl T
(4) TR

Options:



87827085165. 1
87827085166. 2
87827085167. 3

87827085168. 4

Question Number : 58 Question Id : 87827021531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1
2

223

(1)
2)
()
(4)
Options :

87827085169, 1
87827085170. 2
87827085171. 3

87827085172. 4

Question Number : 58 Question Id : 87827021531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

(1) W
(2) M
() W

4 Fm

4



Options :

87827085169. 1
87827085170. 2
87827085171.3

87827085172. 4

Question Number : 59 Question Id : 87827021532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T YTGAToT Tl e -] ROTO % WA P S el i o

Options:

87827085173. 1
87827085174. 2
87827085175.3

87827085176. 4

Question Number : 59 Question Id : 87827021532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T YTGAToT Tl e -] ROTO % WA P S el i o

Options:

87827085173. 1
87827085174. 2
87827085175.3
87827085176. 4

Question Number : 60 Question Id : 87827021533 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tfecia  MeRfwiefagm ' (Saarer Sawe! fagid) & 9 faadt w2

(1) e Feh!
(2) fodm T e
(3) = sl

(4) T YiEe
Options :

87827085177.1
87827085178. 2
87827085179. 3
87827085180. 4

Question Number : 60 Question Id : 87827021533 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

wfeedia ' MAifshfeRagm ' (Siaarria Siawe! fagid) & g feadt i ?

(1) e Feh!
(2) fodm T e
(3) = sl

(4) T YiEe
Options :

87827085177.1
87827085178. 2
87827085179. 3
87827085180. 4

Question Number : 61 Question Id : 87827021534 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T el g hIvl S ?

(1) e Fifged er=eh
(2) R Ae=Eh

(3) HEFHARE! AR

(4) STEETS! el
Options :

87827085181. 1
87827085182. 2
87827085183. 3

87827085184. 4

Question Number : 61 Question Id : 87827021534 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T el g iUl ST ?

(1) T Fifged sTer=eh
(2) SiEEl eEh

(3) HERIETE] Tl

(4) STIEETE! el
Options :

87827085181. 1
87827085182. 2
87827085183. 3

87827085184. 4

Question Number : 62 Question Id : 87827021535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"R 36, TRTue Ao et S SRed e SR T Sl e e
S % T o 99 A G G fee?

Options:

87827085185. 1
87827085186. 2
87827085187.3

87827085188. 4



Question Number : 62 Question Id : 87827021535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"CTTarA! 7, TIeTE! e et A el T R ST SRl el el
o 54 T 4 A S S 1 )

T A

Options :

87827085185. 1
87827085186. 2
87827085187.3
87827085188. 4

Question Number : 63 Question Id : 87827021536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

B 0 . S T g v e, A e o e < g

Options :

87827085189. 1



87827085190. 2
87827085191. 3

87827085192. 4

Question Number : 63 Question Id : 87827021536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘a1 7 3, 2l AR 3 G e, A e R v 3 T we
foRTeeH g e o giqeet e

Options :

87827085189. 1
87827085190. 2
87827085191. 3

87827085192. 4

Question Number : 64 Question Id : 87827021537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

' 7 U 3fE T AR gl A G e T Wil YERid S ?
(1) dfer fe
(2
3
(4) EE A

)
) SAfekif e
4)



Options :

87827085193. 1
87827085194. 2
87827085195. 3
87827085196. 4

Question Number : 64 Question Id : 87827021537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

' T 3fe’ € Y SRR gl A G Al T Wi Wi S ?
(1) dfer ol

(2) 39 TR
(3) oAl
(4) EE Ao

Options:

87827085193. 1
87827085194. 2
87827085195. 3
87827085196. 4

Question Number : 65 Question Id : 87827021538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"I o T T, 7 . e Y, S e e e v it ) e el
1
b
(
(

4 &

3

)
)
)
4

EEz(C

Options:

‘o 3

87827085197. 1
87827085198. 2
87827085199. 3
87827085200. 4

Question Number : 65 Question Id : 87827021538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"I T T T, 7 . e Y, i o e e v it ) e el
1
b
[
(

4 &

3

)
)
)
Y

EEz(c

Options :

‘o 3

87827085197. 1
87827085198. 2
87827085199. 3
87827085200. 4

Question Number : 66 Question Id : 87827021539 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"Bl g et AR 1 ) ST 0 A TRV 7 A o o 9 A e st
0 el )

Options :

87827085201. 1
87827085202. 2
87827085203. 3

87827085204. 4

Question Number : 66 Question Id : 87827021539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" it i et v 1 ) ST 0 A TR 1 A o e A e f o
1 el ?

Options:
87827085201. 1
87827085202. 2

87827085203. 3



87827085204. 4

Question Number : 67 Question Id : 87827021540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I, 3, WA, 3T, Aiehid, T & Ul @I Tehide A 2

(1) TR I
(2) =l FEd
(3) el el
(4) Teem
Options :

87827085205. 1
87827085206. 2
87827085207. 3

87827085208. 4

Question Number : 67 Question Id : 87827021540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I, 391, WA, g, Hehid, TN & U GIA A S ?

(1) TR R
(2) T SR
(3) el el
(4) Teem
Options :

87827085205. 1

87827085206. 2



87827085207. 3
87827085208. 4

Question Number : 68 Question Id : 87827021541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

e ok €l ST TP IOl 72 Foa e e fet” ol o o
e ] i w2/

Options :

87827085209. 1
87827085210. 2
87827085211.3

87827085212. 4

Question Number : 68 Question Id : 87827021541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e o < AT T QT el 2 et o et fet ' o o e
e 4]l 2



Options :

878270852009. 1
87827085210. 2
87827085211.3
87827085212. 4

Question Number : 69 Question Id : 87827021542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e T Tt @a T e wafera gien Tehemed Hafyd o7 ?
(1) 31 3T g

2)

(3) A

(4) T el

Options :

87827085213. 1

87827085214. 2

87827085215. 3

87827085216. 4

Question Number : 69 Question Id : 87827021542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teha T Aiariel Ga d Yarg i 2w ke Saidd 3 ?
(1) a1 3 4i

(2)
(3) EE
(4) T e
Options :
87827085213. 1
87827085214. 2

87827085215. 3

87827085216. 4

Question Number : 70 Question Id : 87827021543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"I fHerA ' AreEEiEdEl AR il ?

(1) T%ard AdieEHR

(2) HAR HiEd

(3) Elg THIMHI

(4) SR FiEBhRR
Options :

87827085217. 1
87827085218. 2
87827085219. 3
87827085220. 4

Question Number : 70 Question Id : 87827021543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

"O TR =N reFEfEd= AR il ?
(1) %™ disehr

(2) HAR Wi

(3) Wiz THLMHR

(4) A SieEHR

Options :

87827085217. 1
87827085218. 2
87827085219. 3

87827085220. 4

Question Number : 71 Question Id : 87827021544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘AR & AT TE Siqae WA HISANRRId ST 2

(1) fd e

(2) " A

(3) Kl HTA

(4) A
Options :

87827085221. 1
87827085222. 2
87827085223. 3

87827085224. 4

Question Number : 71 Question Id : 87827021544 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) id e

(2) T A

(3) ekl 1A

(4) AN
Options :

87827085221. 1
87827085222. 2
87827085223. 3
87827085224. 4

Question Number : 72 Question Id : 87827021545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TR 1 2 o vl e i ) e 71 e et fe T eiqed e
9 giqgel G 7

A e o7

Options :

87827085225. 1



87827085226. 2
87827085227. 3

87827085228. 4

Question Number : 72 Question Id : 87827021545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R 1 2 1 el e S ) e 1 e et e U el e
EEXTIRECE N

Options :

87827085225. 1
87827085226. 2
87827085227.3

87827085228. 4

Question Number : 73 Question Id : 87827021546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



" TeEfer, e, el §1Sf SfTH1 T el € hiefiel gl 0T TR S ?
EEECECT

Options:

87827085229. 1
87827085230. 2
87827085231.3

87827085232. 4

Question Number : 73 Question Id : 87827021546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" sTear, e, Tl st ST =T Wieleedl ' & SR fardi et 0T R A ?
ol A

Options :

87827085229. 1
87827085230. 2
87827085231.3

87827085232. 4

Question Number : 74 Question Id : 87827021547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
fo. ifeion Swf e e T e o G i Ry R
(1) W& e

Options :

87827085233. 1
87827085234. 2
87827085235. 3

87827085236. 4

Question Number : 74 Question Id : 87827021547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ufa. vifeaen swfer Hode awa =eed Fal o G FEiE Ry wURH

NI GRS
(2) YT TH
(3) TSI TR
(4) W TSGR
Options :

87827085233. 1
87827085234. 2
87827085235. 3

87827085236. 4

Question Number : 75 Question Id : 87827021548 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Bl G fae . gftvels THdHR gioa sRugH 9 o 2

(1) =gk il gl o2 Wl kil F91 kil qigeia aree.

(2) TR CaRTide] shiso He G A fevel e,

(3) AR Al Gl dreda S ferarayrEndies F1 S,

(4)  HieRvl HABRI Ma=A FHSIGEAT T Har Td-7d foud Heqedr g,

Options :

87827085237. 1
87827085238. 2
87827085239. 3
87827085240. 4

Question Number : 75 Question Id : 87827021548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Bl G faur <. 3fvsis TR g aRuyH < A 7

(1)  <ieehr il G e T w0 He B Gecid e,

(2) TG CaaRTide! shiev He G A fevel e,

(3) TR STelt Geil dredal S ferdaTTardie sl s,

(4)  HieRU FHARRRA TN FHSIGH Thd 4o 7a-7 faum F3aer Aiea.
Options :
87827085237. 1
87827085238. 2

87827085239. 3

87827085240. 4

Question Number : 76 Question Id : 87827021549 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"IV FT S R 7 G G FeA I G SSee o g 6o /
(1) 38 R003
2) 38308
3)
(4)

3) %H.R0%0
4) 3. oo

Options :

87827085241. 1
87827085242. 2
87827085243. 3

87827085244. 4

Question Number : 76 Question Id : 87827021549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"I ST ST R 2 T T € I T S o g G/
2.4, 003

Options:

87827085241. 1
87827085242. 2
87827085243.3

87827085244. 4



Question Number : 77 Question Id : 87827021550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) ferE

(2) e HITR

(3) AR

(4) =omERE
Options :

87827085245. 1
87827085246. 2
87827085247. 3

87827085248. 4

Question Number : 77 Question Id : 87827021550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

(1) fere

(2) e HITR

(3) AR

(4) =omEE
Options :

87827085245. 1
87827085246. 2
87827085247. 3

87827085248. 4



Question Number : 78 Question Id : 87827021551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“off TS’ Bl HA Bided1 HIvmE ?

(1) HEEET Sl
(2) TEfaA S.uw. fedn
(3) gie™ TEe
(4)  SITOHT AT
Options :

87827085249. 1
87827085250. 2
87827085251. 3

87827085252. 4

Question Number : 78 Question Id : 87827021551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“off 7ET 2 hl BiGdcA1 I 2
(1) FYEET Sl

(2) TEfad S.uw. fedsn

(3) gUie™ MEe

(4) SIS

Options:

87827085249. 1
87827085250. 2

87827085251. 3



87827085252. 4

Question Number : 79 Question Id : 87827021552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TRl foved Tl Heel B4 T&ieh U1 $ATH SRR B s ?
(1)  hishofl BOTERR

(2) el

(3) @I

(4) AR Akl
Options :

87827085253. 1
87827085254. 2
87827085255. 3

87827085256. 4

Question Number : 79 Question Id : 87827021552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
qerAel faeed Jeashl el @ad T Y1, TAH iR gl s ?
(1) i BUTETR

(2)

(3) @I

(4) AR Akl
Options :

87827085253. 1

87827085254. 2



87827085255. 3
87827085256. 4

Question Number : 80 Question Id : 87827021553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘U9 TGFHT HiHU FHicd=l T FHiaaiea Hharrd Sured o hei 2

(1) =igehid il
(2) HIYE SRR
(3) SehIETE SR
(4) ™ YER
Options :

87827085257. 1
87827085258. 2
87827085259. 3

87827085260. 4

Question Number : 80 Question Id : 87827021553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘Ui TGHT HiH0N Hidad & HiddieN Hherrs e il el ?

(1) =igehid il
(2) ¥ dRER
(3) SEhIETE SR
(4) TS AR
Options :

87827085257. 1



87827085258. 2
87827085259. 3

87827085260. 4

Question Number : 81 Question Id : 87827021554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

9101 Tl B0t Wl el Tl W kvl e T G ol T e ?

(1) 2&%o i
(2) ¢ AH
(3) 2330 i
(4) 23%0 aH
Options :

87827085261. 1
87827085262. 2
87827085263. 3

87827085264. 4

Question Number : 81 Question Id : 87827021554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

970 el B0 W Tt I G ROl el [ G o A ol 7

(1) Q%o aHi
(2) 2R AH
(3) 2330
(4) 2360

Options:



87827085261. 1
87827085262. 2
87827085263. 3

87827085264. 4

Question Number : 82 Question Id : 87827021555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1. THIGT HIESl gkl 3l FAYIS YRR FlE] Sel.
(1) wudm.
(2) u& L
(3) 4ol
(4) ued
Options :

87827085265. 1
87827085266. 2
87827085267. 3

87827085268. 4

Question Number : 82 Question Id : 87827021555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

1. HIG HIESH Bkl 3l FAS JERR Hal el
(1) 4wy
2) u&dL.

(2)
(3) Wel.
(4) ued



Options :

87827085265. 1
87827085266. 2
87827085267. 3

87827085268. 4

Question Number : 83 Question Id : 87827021556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
FHYARISUT, FHA, BhId], Tl 30 e T <8 Y] Iefl ?
(1) Teest 9™
(2) foeprl ™
(3) U et g
(4) T WA
Options :
87827085269. 1
87827085270. 2
87827085271. 3

87827085272. 4

Question Number : 83 Question Id : 87827021556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FHUABISU, FEHAAN, BRI, & ST FHHel M= 9@ ) a1 ?
(1) ToeHt vE
(2) foeprl ™
(3) U el
(4) @Il T =
Options :
87827085269. 1
87827085270. 2

87827085271. 3

87827085272. 4

Question Number : 84 Question Id : 87827021557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T, 7, 7 @9 TR THIR 90 R T S o e L AEH %W,
(1
)

3
4

ERel

) R
) ST
)

) e
Options :
87827085273. 1
87827085274. 2
87827085275. 3

87827085276. 4

Question Number : 84 Question Id : 87827021557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

1, 3, % 870 3R TR S B e S o e Y LA R,
(1)
o
3
(4

TR
) S
) 3o
) e

Options :

87827085273. 1
87827085274. 2

87827085275. 3

87827085276. 4

Question Number : 85 Question Id : 87827021558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I et 1 0 ST, e e, Sge e, o el et e o

(1) & e
(2) faverd el
(3) o i
(4) 4w
Options :
87827085277. 1
87827085278. 2

87827085279. 3

87827085280. 4

Question Number : 85 Question Id : 87827021558 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T e 7= At AT, <l e, gyl e, o e, et et s

() ww

Options :

87827085277. 1
87827085278. 2
87827085279. 3

87827085280. 4

Question Number : 86 Question Id : 87827021559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1% S IAR B Felvl Sl TG qiehi EECIR]

Options:

87827085281. 1
87827085282. 2
87827085283. 3

87827085284. 4



Question Number : 86 Question Id : 87827021559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

14 S IAR F Helvl Al G T S| UM,

Options :

87827085281. 1
87827085282. 2
87827085283. 3

87827085284. 4

Question Number : 87 Question Id : 87827021560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TN TR

(1) SARPEAY safyamE
(2) HfFeR g1 EET
(3)  SHIHE IaY

(4) SR

Options:
87827085285. 1
87827085286. 2

87827085287. 3



87827085288. 4

Question Number : 87 Question Id : 87827021560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

9N el
(1) Y s yamE
(2) HfFeR STor ST
(3) FUARHS I
(4) SR ST
Options :

87827085285. 1
87827085286. 2
87827085287. 3

87827085288. 4

Question Number : 88 Question Id : 87827021561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

" Y TR 31 T SR T e oo T 7 Wi ST 4 o T e, @
R 4 T T2t foeie v Ued, | W % - W N e SO TRaR o o
G T 0 el

Options :



87827085289. 1
87827085290. 2
87827085291. 3

87827085292. 4

Question Number : 88 Question Id : 87827021561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" V1% eI 1 T G T e oo T ) U el e oo T e,
R 4T T T2 foeie v Ued, | W Y - W 4N e ST TRaRE o o
GG ACOEETE T

Options :

87827085289. 1
87827085290. 2
87827085291. 3

87827085292. 4

Question Number : 89 Question Id : 87827021562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



g fomeTiea WA fasa e e 3, foe <t fiese it el are el 7

(1) i Y Fasr,

(2) iR TR FT,

(3) iRl SRR Ao
(4) iR HAIT et oo,
Options :

87827085293. 1
87827085294. 2
87827085295. 3

87827085296. 4

Question Number : 89 Question Id : 87827021562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g forieiiea SHaaTeren fadma e w g foeh < fiee gt see am & 7

(1) I Techre oL

(2) iR TR BT,

(3) IR ATRR AeSrE
(4) IR HAITF ierd oo,
Options :

87827085293. 1
87827085294. 2
87827085295. 3
87827085296. 4

Question Number : 90 Question Id : 87827021563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

I (- TRiTeR Se) AH Rier ((Serei-wieiien o) @ 9 0 el ?
1) HERH
D) AW AR
3) I HYEHAN
4) IR HIEHH

Options :

(
(
(
(

87827085297. 1
87827085298. 2
87827085299. 3

87827085300. 4

Question Number : 90 Question Id : 87827021563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YA (-SRI (Seei- e e @ e i Sl 2

(1) HeRH

(2) W TR
(3) U HYEHH
(4) YT AN
Options :

87827085297. 1
87827085298. 2
87827085299. 3

87827085300. 4

Question Number : 91 Question Id : 87827021564 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YRS Hifecremerdean Tt v g s

(A) TR B IR HifecereeT U4 SRS S,
(B) TS qHH ‘<ueve oM’ U9 s,

(C) W 71 ‘1o WehTel' BTl ahell TgUT TG 7T

(

(

o

D) ¥2e TR ‘&ed ' eyl fomoft et
E) ‘ashlrsiiiaa’ 8 T ST aedel.
Choose the most appropriate answer from the options given below :
(I) (A)and (B) Only

(2) (B)and (C) Only

(3) (C) and (D) Only

(4) (D) and (E) Only

Options :

87827085301. 1

87827085302. 2

87827085303. 3

87827085304. 4

Question Number : 91 Question Id : 87827021564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YR SfEeaRreTee Jar fevil gl e,

(A) ' THER' B YR HifecereeT 4 SRS S,
(B) &g S 'SureTeh faum ' Uy e,

(C) W &1 ‘1 Fohm' T el B TIHG 37

(

(

o

D) & THHMA '%ed <0’ Yot feivil ohel,
E) ‘ashlrsiiiaa’ 8 Y STTYerar aedel.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) Only

2) (B)and (C) Only

(3) (C) and (D) Only

(4) (D) and (E) Only

Options :

87827085301. 1

87827085302. 2

87827085303. 3

87827085304. 4

Question Number : 92 Question Id : 87827021565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STehTalTel SRR e Hay] & HATRNITSl Fehrel aEiehr Uil
(A) SThieTei= <o’ g shiodd HeRU IUIh Heald.

(B) @Tehlarmeli=ll ‘<ol & BIRUNH STTedl hied WY,

(C) SThIEE id HUEH Hidl e,

(D) WURidel =i shidhviid eed!’ STe

(E) Shieareil hiedl ®oodR dret siiferdanr |

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) Only

(2) Q) (D) and (E) Only
(3) (B), (D) and (E) Only
(4) (D), (B) and (E) Only
Options :

87827085305. 1
87827085306. 2
87827085307. 3
87827085308. 4

Question Number : 92 Question Id : 87827021565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STehTalTel SRR e Hay] & HATRNITSl Fehrel aEiehr Uil
(A) SThieTei= <o’ g shiodd HeRU IUIh Heald.

(B) @Tehlarmeli=ll ‘<ol & BIRUNH STTedl hied WY,

(C) SThIEE id HUEH Hidl e,

(D) WURidel =i shidhviid eed!’ STe

(E) Shieareil hiedl ®oodR dret siiferdanr |

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) Only

(2) Q) (D) and (E) Only
(3) (B), (D) and (E) Only
(4) (D), (B) and (E) Only
Options :

87827085305. 1
87827085306. 2
87827085307. 3
87827085308. 4

Question Number : 93 Question Id : 87827021566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



" fee o <, ) IR 31l T S S

(A) ‘" e S e A R T e < e I e
(B) i s i Vet w2 Yo feadt e e et

(C) @l 'qe e S G TR B
(
(

e

D) AFURTE THGHTA e el et AT e &7

) ficrha 48 A%l i 5 FAeieraca T T el i B
Choose the most appropriate answer from the options given below :

(1) (&), (B) and (C) Only

() (A),(C)and (E) Only
(8)  (B), (C) and (D) Only
(4 (B) (D) and (E) Only
Options :

87827085309. 1
87827085310. 2
87827085311. 3
87827085312. 4

Question Number : 93 Question Id : 87827021566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



" fee o <, ) IR 31l T S S

(A) ‘" e S e A R T e < e I e
(B) i s i Vet w2 Yo feadt e e et

(C) @l 'qe e S G TR B
(
(

e

D) AFURTE THGHTA e el et AT e &7

) ficrha 48 A%l i 5 FAeieraca T T el i B
Choose the most appropriate answer from the options given below :

(1) (&), (B) and (C) Only

() (A),(C)and (E) Only
(8)  (B), (C) and (D) Only
(4 (B) (D) and (E) Only
Options :

87827085309. 1
87827085310. 2
87827085311. 3
87827085312. 4

Question Number : 94 Question Id : 87827021567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) 55 TUUde] <di H < e

(B) T 3Tet 500 94 GT=A SeH a4 e
(C) TGTeN oI & T T W Sl

(D) @ fafyeeria’ Sgrel el T 3791 374,

(E) 49 & sigi=n d To1 ueel T T

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) Only

(2) (A), (D) and (E) Only

(3) (A), (€) and (D) Only

(4) (A), (B) and (E) Only

Options :

87827085313. 1

87827085314. 2

87827085315. 3

87827085316. 4

Question Number : 94 Question Id : 87827021567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) 55 TUUde] <di H < e

(B) T 3Tet 500 94 GT=A SeH a4 e
(C) TGTeN oI & T T W Sl

(D) @ fafyeeria’ Sgrel el T 3791 374,

(E) 49 & sigi=n d To1 ueel T T

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) Only

(2) (A), (D) and (E) Only

(3) (A), (€) and (D) Only

(4) (A), (B) and (E) Only

Options :

87827085313. 1

87827085314. 2

87827085315. 3

87827085316. 4

Question Number : 95 Question Id : 87827021568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TG WISl B HAT hichvll HUTHRIe STl ST9f S :-

(A) FUFEHER F1 FEaurd 3 .71, TR gl o a8 e,

(B) el e il wreeferei 3 fewe.

(C) TN W Hishleh SUSHRA Ul e,

(D) wETEeveR Hel 3l for@ves fafasdm qre.

(E) A fraerg g e mafi foorerer ARt SRR sneife s

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), (B) and (C) Only
(3) (A), (B) and (E) Only
(4) (A) and (B) Only
Options :

87827085317. 1
87827085318. 2
87827085319. 3
87827085320. 4

Question Number : 95 Question Id : 87827021568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TG WISl B HAT hichvll HUTHRIe STl ST9f S :-

(A) FUFEHER F1 FEaurd 3 .71, TR gl o a8 e,

(B) el e il wreeferei 3 fewe.

(C) TN W Hishleh SUSHRA Ul e,

(D) wETEeveR Hel 3l for@ves fafasdm qre.

(E) A fraerg g e mafi foorerer ARt SRR sneife s

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), (B) and (C) Only
(3) (A), (B) and (E) Only
(4) (A) and (B) Only
Options :

87827085317. 1
87827085318. 2
87827085319. 3
87827085320. 4

Question Number : 96 Question Id : 87827021569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y I FTecT= HeMid SvAraehid o 374 37T
(A) ‘'SUIE’ B Tl A AR ST ST,

(B) ‘EUERa’ & e A T S gl Hed .
(C) ‘Teehen’ & hemie <2t o sRe
(
(

o

D) T A Y& 9 Thar SIg aeedl s ‘=Y 37 RURH.
E) ‘#YERerR’ & 99 2. A=A 10 A1 Yhedrd Tl

Choose the most appropriate answer from the options given below :
(1) (&) and (C) Only

(2) (B) and (E) Only
(3) (C) and (D) Only
(4) (D) and (B) Only
Options :

87827085321. 1
87827085322. 2
87827085323. 3

87827085324. 4

Question Number : 96 Question Id : 87827021569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y I FTecT= HeMid SvAraehid o 374 37T
(A) ‘'SUIE’ B Tl A AR ST ST,

(B) ‘EUERa’ & e A T S gl Hed .
(C) ‘Teehen’ & hemie <2t o sRe
(
(

o

D) T A Y& 9 Thar SIg aeedl s ‘=Y 37 RURH.
E) ‘#YERerR’ & 99 2. A=A 10 A1 Yhedrd Tl

Choose the most appropriate answer from the options given below :
(1) (&) and (C) Only

(2) (B) and (E) Only
(3) (C) and (D) Only
(4) (D) and (B) Only
Options :

87827085321. 1
87827085322. 2
87827085323. 3

87827085324. 4

Question Number : 97 Question Id : 87827021570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR e e e e B o K e e e O e L e R
B R e R 2 e e e e Rl

Choose the most appropriate answer from the options given below :
(1) (&) Only

Options:

87827085325. 1
87827085326. 2
87827085327.3

87827085328. 4

Question Number : 97 Question Id : 87827021570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR e e e e B o K e e e O e L e R
B R e R 2 e e e e Rl

Choose the most appropriate answer from the options given below :
(1) (&) Only

Options:

87827085325. 1
87827085326. 2
87827085327.3

87827085328. 4

Question Number : 98 Question Id : 87827021571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et O e ol 91T ST e e A A, GFemel & !
5, 0 T T FHaR e 4 -
A) PRI HIGEH RO

(
(
(C) oo e e
(
(

E) T TaR RUe
Choose the most appropriate answer from the options given below :
(1) (&) Only

Options:

87827085329. 1
87827085330. 2
87827085331.3

87827085332. 4

Question Number : 98 Question Id : 87827021571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et O e ol 91T ST e e A A, GFemel & !
5, 0 T T FHaR e 4 -
A) PRI HIGEH RO

(
(
(C) oo e e
(
(

E) T TaR RUe
Choose the most appropriate answer from the options given below :
(1) (&) Only

Options:

87827085329. 1
87827085330. 2
87827085331.3

87827085332. 4

Question Number : 99 Question Id : 87827021572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tiae i et fotl e i e -

(A) TSI T STERHY A 37T 97 <hiehull Weid e e,

(B) & wISId Wl Ui 1 SIREll S U H YRl Hifeed AR IS,
(C) IR Eiehl 1 YT el 8, TR HIAR HRIGT e,

(D) I STeId TS T T Hoa

(E) Y47 el g & ey gl edehi=l geruram sidid g% feea.

Choose the most appropriate answer from the options given below :
(I) (A)and (E) Only

(2) (B)and (C) Only
(3) (A)and (B) Only
(4) (C) and (D) Only
Options :

87827085333. 1
87827085334. 2
87827085335. 3
87827085336. 4

Question Number : 99 Question Id : 87827021572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tiae i et fotl e i e -

(A) TSI T STERHY A 37T 97 <hiehull Weid e e,

(B) & wISId Wl Ui 1 SIREll S U H YRl Hifeed AR IS,
(C) IR Eiehl 1 YT el 8, TR HIAR HRIGT e,

(D) I STeId TS T T Hoa

(E) Y47 el g & ey gl edehi=l geruram sidid g% feea.

Choose the most appropriate answer from the options given below :
(I) (A)and (E) Only

(2) (B)and (C) Only
(3) (A)and (B) Only
(4) (C) and (D) Only
Options :

87827085333. 1
87827085334. 2
87827085335. 3
87827085336. 4

Question Number : 100 Question Id : 87827021573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IO e AT HTe TG TRV -

(A)  HiehUl FICYTEH SHHH Piekvil A FHIeH T

(B) %R I VIO T Vebel Tt 7l WA hiehvl ot 5k TR o
(C) il SHTN I Ted Piwvi e’ T,

(D) iRl T hiehvireA] ferdeaTeld AE=H R e SHIel Tl el
(F)  hiehvi Saml fefdl U S STgae Hgear =rsul a9 9l SO .

Choose the most appropriate answer from the options given below :
(1) (4), (B) and (C) Only

2) (), (D) and (E) Only
(3)  (B), (C) and (D) Only
() (C), (D) and (B) Only
Options:

87827085337. 1
87827085338. 2
87827085339. 3

87827085340. 4

Question Number : 100 Question Id : 87827021573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IO e AT HTe TG TRV -

(A)  HiehUl FICYTEH SHHH Piekvil A FHIeH T

(B) %R I VIO T Vebel Tt 7l WA hiehvl ot 5k TR o
(C) il SHTN I Ted Piwvi e’ T,

(D) iRl T hiehvireA] ferdeaTeld AE=H R e SHIel Tl el
(F)  hiehvi Saml fefdl U S STgae Hgear =rsul a9 9l SO .

Choose the most appropriate answer from the options given below :
(1) (4), (B) and (C) Only

2) (), (D) and (E) Only
(3)  (B), (C) and (D) Only
() (C), (D) and (B) Only
Options:

87827085337. 1
87827085338. 2
87827085339. 3

87827085340. 4

Question Number : 101 Question Id : 87827021574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt (Tt el e -

(A) 4 TgEAR T e i =4 T Tged Weed T Sieloeen STl o9 v o e
Y S

(B)  Feriwicean 2 oAt S Ve ey S T A1 AT,

(C)  Fertwifel S 1 5] 7 e Tl W

(D) Fervwiea @l e A o el S 7t e s i,

(F)  FermiFeen T Telefard SR 5ar

Choose the most appropriate answer from the options given below :

(1) (4) Only

2 ()ﬂnd()

(3) (D) Onl

(4 (&) dﬂd( ) Only
Options:

87827085341. 1
87827085342. 2
87827085343. 3

87827085344. 4

Question Number : 101 Question Id : 87827021574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt (Tt el e -

(A) 4 TgEAR T e i =4 T Tged Weed T Sieloeen STl o9 v o e
Y S

(B)  Feriwicean 2 oAt S Ve ey S T A1 AT,

(C)  Fertwifel S 1 5] 7 e Tl W

(D) Fervwiea @l e A o el S 7t e s i,

(F)  FermiFeen T Telefard SR 5ar

Choose the most appropriate answer from the options given below :

(1) (4) Only

2 ()ﬂnd()

(3) (D) Onl

(4 (&) dﬂd( ) Only
Options:

87827085341. 1
87827085342. 2
87827085343. 3

87827085344. 4

Question Number : 102 Question Id : 87827021575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



WOl Wl 9l Hig JaTd,

(A) TG foam @ 3w siemeeiat 319 T e o Wi,
(B) ®UM ¢ WHIe cor NI &Y ST T

(C) o=l Seerdid i Ffshal AT,
(
(

o

D) aEHEfENd Fefa=R e,

E) Hogrided 94 o) G i e,
Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) Only

(2) (A), (B) and (D) Only
(3) (B), () and (E) Only
(4) (©), (D) and (E) Only
Options :

87827085345. 1
87827085346. 2
87827085347. 3

87827085348. 4

Question Number : 102 Question Id : 87827021575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



WOl Wl 9l Hig JaTd,

(A) TG foam @ 3w siemeeiat 319 T e o Wi,
(B) ®UM ¢ WHIe cor NI &Y ST T

(C) o=l Seerdid i Ffshal AT,
(
(

o

D) aEHEfENd Fefa=R e,

E) Hogrided 94 o) G i e,
Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) Only

(2) (A), (B) and (D) Only
(3) (B), () and (E) Only
(4) (©), (D) and (E) Only
Options :

87827085345. 1
87827085346. 2
87827085347. 3

87827085348. 4

Question Number : 103 Question Id : 87827021576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e T T e fa e o e

(A) " S A T el e, T2 A K el o TR S %) e
A e 9, -

B) " A e ol A A Tt 0 T T Ve ey - e

C) 17 e Zie et g i el v ol vee."-wighn o,

D) "' TieHh TR STl gl -z

F) {7 8 O W TR ST AR T Fee Sl TV W . T
A,

Choose the most appropriate answer from the options given below :

(1) (B) and (E) Only

(2) (&) and (D) Only

(3) (C)and (A) Only

[4) (D) and (B) Only

Options:

87827085349. 1
87827085350. 2
87827085351. 3

87827085352. 4

Question Number : 103 Question Id : 87827021576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e T T e fa e o e

(A) " S A T el e, T2 A K el o TR S %) e
A e 9, -

B) " A e ol A A Tt 0 T T Ve ey - e

C) 17 e Zie et g i el v ol vee."-wighn o,

D) "' TieHh TR STl gl -z

F) {7 8 O W TR ST AR T Fee Sl TV W . T
A,

Choose the most appropriate answer from the options given below :

(1) (B) and (E) Only

(2) (&) and (D) Only

(3) (C)and (A) Only

[4) (D) and (B) Only

Options:

87827085349. 1
87827085350. 2
87827085351. 3

87827085352. 4

Question Number : 104 Question Id : 87827021577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) T Fafive 2a a8 aec A Ao e R,
(B) el TTehr=A eIl GoHIA GATel YT Heael
(C) ¥ S fvereRe e Tiewi Halg ot T TR Spfaay e e,
(D) TS SRR TR .
(F) V&R FARSHIEAE ferig Fof Sfr forfi wertel fiot sheat
Choose the most appropriate answer from the options given below :
(1) (A)and (E) Only
(2) (4)and (C) Only
(3) (C)and D) 0111}’
(4)  (E)and (B) Onl
Options :
87827085353. 1
87827085354. 2

87827085355. 3
87827085356. 4

Question Number : 104 Question Id : 87827021577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) T Fafive 2a a8 aec A Ao e R,
(B) el TTehr=A eIl GoHIA GATel YT Heael
(C) ¥ S fvereRe e Tiewi Halg ot T TR Spfaay e e,
(D) TS SRR TR .
(F) V&R FARSHIEAE ferig Fof Sfr forfi wertel fiot sheat
Choose the most appropriate answer from the options given below :
(1) (A)and (E) Only
(2) (4)and (C) Only
(3) (C)and D) 0111}’
(4)  (E)and (B) Onl
Options :
87827085353. 1
87827085354. 2

87827085355. 3
87827085356. 4

Question Number : 105 Question Id : 87827021578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T foeedl e 31 Tedher qu fom o frabar s et g ?
(A) . STear
(B) for@rgud
€ T
(D) #feg ol
(E) TR

Choose the most appropriate answer from the options given below :
1) (B) and (E) Only

(

(2) (A)and (C) Only
(3) (E)and (D) Only
(4) (B)and (A) Only
Options :

87827085357. 1
87827085358. 2
87827085359. 3

87827085360. 4

Question Number : 105 Question Id : 87827021578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T foeedl e 31 Tedher qu fom o frabar s et g ?
(A) . STear
(B) for@rgud
€ T
(D) #feg ol
(E) TR

Choose the most appropriate answer from the options given below :
1) (B) and (E) Only

(

(2) (A)and (C) Only
(3) (E)and (D) Only
(4) (B)and (A) Only
Options :

87827085357. 1
87827085358. 2
87827085359. 3

87827085360. 4

Question Number : 106 Question Id : 87827021579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T i ekt s &, 00 e, (S & Y, W-T) § R G S ek -
(A) TR AT, STl SR 4 TR,

(B) el el SAeRaul e Tvrere,

(C) T, TR Tt SR 3G TEURR.

(D) 3-Gfoe! il S i T

(B) el apifien] e il sameRtolt e e

Choose the most appropriate answer from the options given below :
(1) (A)and (E) Only

2) (8 On
(3) (© and(
(4) (D) Onl
Options :

87827085361. 1
87827085362. 2
87827085363. 3
87827085364. 4

Question Number : 106 Question Id : 87827021579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T i ekt s &, 00 e, (S & Y, W-T) § R G S ek -
(A) TR AT, STl SR 4 TR,

(B) el el SAeRaul e Tvrere,

(C) T, TR Tt SR 3G TEURR.

(D) 3-Gfoe! il S i T

(B) el apifien] e il sameRtolt e e

Choose the most appropriate answer from the options given below :
(1) (A)and (E) Only

2) (8 On
(3) (© and(
(4) (D) Onl
Options :

87827085361. 1
87827085362. 2
87827085363. 3
87827085364. 4

Question Number : 107 Question Id : 87827021580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"UR, 99, YR, HTY, 919" € wihvidel oo LA ST i -
(A) e ol U,

(B) il S ST =S e,

(C) Tfa-3ieHl e B,
(
(

o

D) M el =Uer.
E) UG sl RURT.

Choose the most appropriate answer from the options given below :
(1) (D) Only

(2)  (E) Only

(3)  (B) Only

(4)  (C) Only
Options :

87827085365. 1
87827085366. 2
87827085367. 3

87827085368. 4

Question Number : 107 Question Id : 87827021580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"UR, 99, YR, HTY, 919" € wihvidel oo LA ST i -
(A) e ol U,

(B) il S ST =S e,

(C) Tfa-3ieHl e B,
(
(

o

D) M el =Uer.
E) UG sl RURT.

Choose the most appropriate answer from the options given below :
(1) (D) Only

(2)  (E) Only

(3)  (B) Only

(4)  (C) Only
Options :

87827085365. 1
87827085366. 2
87827085367. 3

87827085368. 4

Question Number : 108 Question Id : 87827021581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



'War and Peace’ & STTHG Tacrahv T -

(A) & TR T 5 §o Thih WG Wl AT feed]

(B)  %¢o3 1 4¢0% T I ST A el T S 9 21 2 Fecrehoal foe,
(C) e 2 A e TR ¢ TRaer He

(D) e 2 T Ha | o,

) faumfeeme et @ T 9 feon wevld R W

Choose the most appropriate answer from the options given below :

(1) (A)and (B) Only

A) and (C) Only

Options :

87827085369. 1
87827085370. 2
87827085371.3

87827085372. 4

Question Number : 108 Question Id : 87827021581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



'War and Peace’ & STTHG Tacrahv T -

(A) & TR T 5 §o Thih WG Wl AT feed]

(B)  %¢o3 1 4¢0% T I ST A el T S 9 21 2 Fecrehoal foe,
(C) e 2 A e TR ¢ TRaer He

(D) e 2 T Ha | o,

) faumfeeme et @ T 9 feon wevld R W

Choose the most appropriate answer from the options given below :

(1) (A)and (B) Only

A) and (C) Only

Options :

87827085369. 1
87827085370. 2
87827085371.3

87827085372. 4

Question Number : 109 Question Id : 87827021582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el 14 fau M 49 -

(A) Tl WO T T g g st e e
(B) TR el Mo,

(C) @ 9T Ao FEAFTEA vl AR HzT
[

(

—

D) Tl FRed T

B) i Uh 7 TG0 Rl Aot T ST 1 5 ) SR ST Sl e
Choose the most appropriate answer from the options given below :

(1) (8) (C)and (D) Oy

&)

B ()

(4)  (A), (C) and (D) Only
Options :

87827085373. 1
87827085374. 2
87827085375. 3
87827085376. 4

Question Number : 109 Question Id : 87827021582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el 14 fau M 49 -

(A) Tl WO T T g g st e e
(B) TR el Mo,

(C) @ 9T Ao FEAFTEA vl AR HzT
[

(

—

D) Tl FRed T

B) i Uh 7 TG0 Rl Aot T ST 1 5 ) SR ST Sl e
Choose the most appropriate answer from the options given below :

(1) (8) (C)and (D) Oy

&)

B ()

(4)  (A), (C) and (D) Only
Options :

87827085373. 1
87827085374. 2
87827085375. 3
87827085376. 4

Question Number : 110 Question Id : 87827021583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



a5 a3 RS-

(A) T T TR T a1 A e G 1,
(B) o HIWNIqel Tt HIG g,

(C) o= o <alidh 3T steATeeien foram. Hezer,
(

(

e

D) A=A GheuTd Y6 HiwTiael cilhag g Sat Il TeaTe g Sea.
E) "G GerU aTe] HISiidel elihas Yardl’ Tl SHHmaid o S,

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C) and (E) Only
(2) (B), (C), (D) and (E) Only
(3) (A) (B), (C) and (D) Only
(4) (A), (C) (D) and (E) Only
Options :

87827085377. 1
87827085378. 2
87827085379. 3
87827085380. 4

Question Number : 110 Question Id : 87827021583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



a5 a3 RS-

(A) T T TR T a1 A e G 1,
(B) o HIWNIqel Tt HIG g,

(C) o= o <alidh 3T steATeeien foram. Hezer,
(

(

e

D) A=A GheuTd Y6 HiwTiael cilhag g Sat Il TeaTe g Sea.
E) "G GerU aTe] HISiidel elihas Yardl’ Tl SHHmaid o S,

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C) and (E) Only
(2) (B), (C), (D) and (E) Only
(3) (A) (B), (C) and (D) Only
(4) (A), (C) (D) and (E) Only
Options :

87827085377. 1
87827085378. 2
87827085379. 3
87827085380. 4

Question Number : 111 Question Id : 87827021584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) AT <X T R e el

(B) 0 e STk G G8 T 9 36

(C) I TS 2 A TR 0 el Aeed ST A fore T e
(D) YA SEU w0 SR, STk 2 He e,

(E) VIRl S 7 A T R v

Choose the most appropriate answer from the options given below :

(1) (A), () and (D) Only
(2) (A), (B) and () Only
(%) (A) (D) and (E) Only
(4 (B), () and (E) Only
Options :

87827085381. 1
87827085382. 2
87827085383. 3
87827085384. 4

Question Number : 111 Question Id : 87827021584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) AT <X T R e el

(B) 0 e STk G G8 T 9 36

(C) I TS 2 A TR 0 el Aeed ST A fore T e
(D) YA SEU w0 SR, STk 2 He e,

(E) VIRl S 7 A T R v

Choose the most appropriate answer from the options given below :

(1) (A), () and (D) Only
(2) (A), (B) and () Only
(%) (A) (D) and (E) Only
(4 (B), () and (E) Only
Options :

87827085381. 1
87827085382. 2
87827085383. 3
87827085384. 4

Question Number : 112 Question Id : 87827021585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



13 M T TEIHeI agaR ae e -

(A) TGHR 9 S H9 SO o T ool

(B)  HTEACTEHTIE B {444 T ® See.

(C) o, e giell e ST CRTieR SFacia d Teh
(

(

[

D) WAl Tl e Ul S SIS ed g W HE | A T
F) 0% H1e4 S @ S,

Choose the most appropriate answer from the options given below :
(1) (B), (C) and (D) Only

2) (C), (D) and (E) Only

(3)  (A), (D) and (E) Only

(4)  (B), (C) and (E) Only

Options :

87827085385. 1

87827085386. 2

87827085387. 3

87827085388. 4

Question Number : 112 Question Id : 87827021585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



13 M T TEIHeI agaR ae e -

(A) TGHR 9 S H9 SO o T ool

(B)  HTEACTEHTIE B {444 T ® See.

(C) o, e giell e ST CRTieR SFacia d Teh
(

(

[

D) WAl Tl e Ul S SIS ed g W HE | A T
F) 0% H1e4 S @ S,

Choose the most appropriate answer from the options given below :
(1) (B), (C) and (D) Only

2) (C), (D) and (E) Only

(3)  (A), (D) and (E) Only

(4)  (B), (C) and (E) Only

Options :

87827085385. 1

87827085386. 2

87827085387. 3

87827085388. 4

Question Number : 113 Question Id : 87827021586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) VI IR G H e ST Hoa,

(B) WFTe Sreeen FgiTe wieTel HTsiieh fashrr del SR
(C) SersITe aTra &t ifew e =i iept o
(
(

T

D) g v S qEgErd! e HsIa Gy ¢ HeA S W S,
4l 21 5981 o1 31 o1 A g e o

Choose the most appropriate answer from the options given below :
(1) (B) (D) and (E) Only

(2) (A) (B)and (C) Only
(3) (B), (C) and (D) Only
(4) (C), (D) and (E) Only
Options :

87827085389. 1
87827085390. 2
87827085391. 3

87827085392. 4

Question Number : 113 Question Id : 87827021586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) VI IR G H e ST Hoa,

(B) WFTe Sreeen FgiTe wieTel HTsiieh fashrr del SR
(C) SersITe aTra &t ifew e =i iept o
(
(

T

D) g v S qEgErd! e HsIa Gy ¢ HeA S W S,
4l 21 5981 o1 31 o1 A g e o

Choose the most appropriate answer from the options given below :
(1) (B) (D) and (E) Only

(2) (A) (B)and (C) Only
(3) (B), (C) and (D) Only
(4) (C), (D) and (E) Only
Options :

87827085389. 1
87827085390. 2
87827085391. 3

87827085392. 4

Question Number : 114 Question Id : 87827021587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) ST T B T 3197 T A 3] e,

(B) feve, el ST SR 3o AR e Fol ST 479 SR RV,
(C) '<WEY' g WO e T v S
(
(

F) 2T g FAH W 3 S T I e (e ) S o
Choose the most appropriate answer from the options given below :
(1) (B), (D) and (E) Only

(2) (A) (B)and (C) Only
(3) (B), () and (E) Only
(4) (A) (D) and (E) Only
Options :

87827085393. 1
87827085394. 2
87827085395. 3

87827085396. 4

Question Number : 114 Question Id : 87827021587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) ST T B T 3197 T A 3] e,

(B) feve, el ST SR 3o AR e Fol ST 479 SR RV,
(C) '<WEY' g WO e T v S
(
(

F) 2T g FAH W 3 S T I e (e ) S o
Choose the most appropriate answer from the options given below :
(1) (B), (D) and (E) Only

(2) (A) (B)and (C) Only
(3) (B), () and (E) Only
(4) (A) (D) and (E) Only
Options :

87827085393. 1
87827085394. 2
87827085395. 3

87827085396. 4

Question Number : 115 Question Id : 87827021588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e T 1o e -

(A) TSI T et e ST

(B) 1o  oFekitel SOl Sl A oA ek S HITeh Sfeeral SFpehal oA,
(C) o Teme Aoy fovd e,

(D) i Fat S 7 g G hefl-SAR S,

(E) {TeT=l Ta7a T eAfeied g s SHfeaed S

Choose the most appropriate answer from the options given below :

(1) (B), (C) and (E) Only

A), (8) and (E) Only

Options :

87827085397. 1
87827085398. 2
87827085399. 3
87827085400. 4

Question Number : 115 Question Id : 87827021588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e T 1o e -

(A) TSI T et e ST

(B) 1o  oFekitel SOl Sl A oA ek S HITeh Sfeeral SFpehal oA,
(C) o Teme Aoy fovd e,

(D) i Fat S 7 g G hefl-SAR S,

(E) {TeT=l Ta7a T eAfeied g s SHfeaed S

Choose the most appropriate answer from the options given below :

(1) (B), (C) and (E) Only

A), (8) and (E) Only

Options :

87827085397. 1
87827085398. 2
87827085399. 3
87827085400. 4

Question Number : 116 Question Id : 87827021589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
01 e e 1 1 B e A 0 e B 2 R B | S 52 G

List - I List - II

(A) Y9I & Heheaal YT forem 7 e () RS T
Ty wifeed fere=A Heuld O S

(B) IR &9 & T ekl Higerell Teh ohefl Sl (I) R S SoRA

(C) TR Wi S Tl SfTeet o () ot g
SAFRTHT A=A A= SHH H T

(D) IR Wkl He Wit 19 e o, & 3 (IV) iR S
WIYAERIT S90Tel 19 ST HIe T
FIE S

Choose the correct answer from the options given below :

(1) (AHIV), (B)-(I), (C)-(IT), (D)-(D)

(2)  (AH), B)-(IV), (CHII), (D)-(I)

(3)  (A)-(), B}-0), (CHIV), (D)(T)

(4) (AR, (B)-(I), ©)-(IV), (D)-(1)

Options :

87827085401. 1
87827085402. 2
87827085403. 3

87827085404. 4

Question Number : 116 Question Id : 87827021589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
01 e e 1 1 B e A 0 e B 2 R B | S 52 G

List - I List - II

(A) Y9I & Heheaal YT forem 7 e () RS T
Ty wifeed fere=A Heuld O S

(B) IR &9 & T ekl Higerell Teh ohefl Sl (I) R S SoRA

(C) TR Wi S Tl SfTeet o () ot g
SAFRTHT A=A A= SHH H T

(D) IR Wkl He Wit 19 e o, & 3 (IV) iR S
WIYAERIT S90Tel 19 ST HIe T
FIE S

Choose the correct answer from the options given below :

(1) (AHIV), (B)-(I), (C)-(IT), (D)-(D)

(2)  (AH), B)-(IV), (CHII), (D)-(I)

(3)  (A)-(), B}-0), (CHIV), (D)(T)

(4) (AR, (B)-(I), ©)-(IV), (D)-(1)

Options :

87827085401. 1
87827085402. 2
87827085403. 3

87827085404. 4

Question Number : 117 Question Id : 87827021590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

@ I il T B e Sl .

List - I List - I
(A) “af i () sfem o9 fenfaeie wfn
(B) R fysiigr () T ik 3T im0 T
(C) =M= () feRifra ferafead
(D) THFSY s SEMH (IV) Wieel™ 37 S feirafe

Choose the correct answer from the options given below :
(L) (A1), B)-L), (©)-(L), (D)-IV)

(2 (AHIV), (B, (O-), (D)-0)
(3)  (A)-1V), (B)-I), (©)-I), (D)-{1)
(4) (A, (B)-(1V), (O-(), (D)-0)

Options:

87827085405. 1
87827085406. 2
87827085407. 3
87827085408. 4

Question Number : 117 Question Id : 87827021590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

@ I il T B e Sl .

List - I List - I
(A) “af i () sfem o9 fenfaeie wfn
(B) R fysiigr () T ik 3T im0 T
(C) =M= () feRifra ferafead
(D) THFSY s SEMH (IV) Wieel™ 37 S feirafe

Choose the correct answer from the options given below :
(L) (A1), B)-L), (©)-(L), (D)-IV)

(2 (AHIV), (B, (O-), (D)-0)
(3)  (A)-1V), (B)-I), (©)-I), (D)-{1)
(4) (A, (B)-(1V), (O-(), (D)-0)

Options:

87827085405. 1
87827085406. 2
87827085407. 3
87827085408. 4

Question Number : 118 Question Id : 87827021591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.
g Teoed g% THE YR 371 Tl <@l gl H1de Sedl e,

List -1 List - II
(A) H T () e
(B) T ACTEN () T
(C) WIEH T () SR
(D) ST AT (V) Fwomo

Choose the correct answer from the options given below :

(1) (AHIV), (B)(1), (C}(1), (D))

(
(2) (A, B)-AV), C)-(1), (D))
(3) (&), B)-(1), (O-1V), (D}-1)
(4)  (A)-(1V), (B)(IL), (C)-(1), (D)-(I)

Options:

87827085409. 1
87827085410. 2
87827085411.3

87827085412. 4

Question Number : 118 Question Id : 87827021591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.
g Teoed g% THE YR 371 Tl <@l gl H1de Sedl e,

List -1 List - II
(A) H T () e
(B) T ACTEN () T
(C) WIEH T () SR
(D) ST AT (V) Fwomo

Choose the correct answer from the options given below :

(1) (AHIV), (B)(1), (C}(1), (D))

(
(2) (A, B)-AV), C)-(1), (D))
(3) (&), B)-(1), (O-1V), (D}-1)
(4)  (A)-(1V), (B)(IL), (C)-(1), (D)-(I)

Options:

87827085409. 1
87827085410. 2
87827085411.3

87827085412. 4

Question Number : 119 Question Id : 87827021592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
el HaeR gl Afedeet TOaBR S 96 o A el .

List - I List - II
(A) ST st el HR] VI el SepreH, T TR 0 193¢
(B) oI YR WA e STRIEH! TR () Roof
(C) ol iR et Hforeh e, T el W R () Roq¥
(D) fomer =14 fova il wifecd o, W (IV) 3%
Choose the correct answer from the options given below :
(1) (AHLV), (B){0), (O, (D)
(2) (AR, (BHI), (CHIV), (D}
) (A1), (B)-(L), (C-{IL), (DHLY)
(4)  (AHI), B)-{), CHD, D-IV)
Options :

87827085413. 1
87827085414. 2
87827085415. 3

87827085416. 4

Question Number : 119 Question Id : 87827021592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
el HaeR gl Afedeet TOaBR S 96 o A el .

List - I List - II
(A) ST st el HR] VI el SepreH, T TR 0 193¢
(B) oI YR WA e STRIEH! TR () Roof
(C) ol iR et Hforeh e, T el W R () Roq¥
(D) fomer =14 fova il wifecd o, W (IV) 3%
Choose the correct answer from the options given below :
(1) (AHLV), (B){0), (O, (D)
(2) (AR, (BHI), (CHIV), (D}
) (A1), (B)-(L), (C-{IL), (DHLY)
(4)  (AHI), B)-{), CHD, D-IV)
Options :

87827085413. 1
87827085414. 2
87827085415. 3

87827085416. 4

Question Number : 120 Question Id : 87827021593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
I MISTET SRUEE A SSareEvE a4 gl WENl el dr.

List - I List - II
(A) IR 9 S D 2’3y
(B) YWl 392 () 2%ER
(C) IR STALTA Ielley () 2330
(D) aferaer= 9 (IV) 2R¥e

Choose the correct answer from the options given below :

(1) (A1), B)-1), (O-(1L), (D)-(1V)
I

(2) (A, (BHIV), (O-0), (D)-(I)
(3) (AL, (B)-(1), (O-(1V), (DHI)
(4) (A, (B)-IV), ©)-(1), (D)-(I])

Options:

87827085417. 1
87827085418. 2
87827085419. 3

87827085420. 4

Question Number : 120 Question Id : 87827021593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
I MISTET SRUEE A SSareEvE a4 gl WENl el dr.

List - I List - II
(A) IR 9 S D 2’3y
(B) YWl 392 () 2%ER
(C) IR STALTA Ielley () 2330
(D) aferaer= 9 (IV) 2R¥e

Choose the correct answer from the options given below :

(1) (A1), B)-1), (O-(1L), (D)-(1V)
I

(2) (A, (BHIV), (O-0), (D)-(I)
(3) (AL, (B)-(1), (O-(1V), (DHI)
(4) (A, (B)-IV), ©)-(1), (D)-(I])

Options:

87827085417. 1
87827085418. 2
87827085419. 3

87827085420. 4

Question Number : 121 Question Id : 87827021594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.

e 3 S i 2o el e .

List -1 List - 11
(A) T TR AR AT b el (1) el
(B) ST eI et ava ¢ W 3 e fee (1) A

(C) ETeN el i WIoel TVl el sl (1) % YR
i TR H

(D) 1 S 3a Adell Fehardd Hood SHA TN dcl ol (IV) ekl
Yo ST g el

Choose the correct answer from the options given below :

(1) (AHD, B)-I), (C(M), (DHV)

(2)  (A-IV), (B)-{ID, (C-) (D)0
(3)  (AH, (B)-{D) (CHI, (DHIV)
(4) (AR, (B)-{1), (CHIV), (DA)
Options:

87827085421. 1
87827085422. 2
87827085423. 3

87827085424. 4

Question Number : 121 Question Id : 87827021594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.

e 3 S i 2o el e .

List -1 List - 11
(A) T TR AR AT b el (1) el
(B) ST eI et ava ¢ W 3 e fee (1) A

(C) ETeN el i WIoel TVl el sl (1) % YR
i TR H

(D) 1 S 3a Adell Fehardd Hood SHA TN dcl ol (IV) ekl
Yo ST g el

Choose the correct answer from the options given below :

(1) (AHD, B)-I), (C(M), (DHV)

(2)  (A-IV), (B)-{ID, (C-) (D)0
(3)  (AH, (B)-{D) (CHI, (DHIV)
(4) (AR, (B)-{1), (CHIV), (DA)
Options:

87827085421. 1
87827085422. 2
87827085423. 3

87827085424. 4

Question Number : 122 Question Id : 87827021595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
ATEITRI ST 2deRdl 2] W1F & Sedl dE.

List - I List - II

(A) UARA () =R

(B) T (IT) <= el oot gt
(C) TUeHIeh () W Fe

(D) R (IV) B9 fepredl 9

Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(1), (C)-(U), (D)-(1)

(2) (A, (B)-(1), (O-1), (D)-IV)

(3)  (A)-(1), (B)-(IV), (CO)-(1LI), (D)-(1I)

(4) (A1), B)-AV), ©)-(), (D)-(1)

Options:

87827085425. 1

87827085426. 2

87827085427. 3

87827085428. 4

Question Number : 122 Question Id : 87827021595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
ATEITRI ST 2deRdl 2] W1F & Sedl dE.

List - I List - II

(A) UARA () =R

(B) T (IT) <= el oot gt
(C) TUeHIeh () W Fe

(D) R (IV) B9 fepredl 9

Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(1), (C)-(U), (D)-(1)

(2) (A, (B)-(1), (O-1), (D)-IV)

(3)  (A)-(1), (B)-(IV), (CO)-(1LI), (D)-(1I)

(4) (A1), B)-AV), ©)-(), (D)-(1)

Options:

87827085425. 1

87827085426. 2

87827085427. 3

87827085428. 4

Question Number : 123 Question Id : 87827021596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
THFW] AR B e 3T di TR gl Eal ol Siedl |,

List - I List - II

(A) @fem e O &<

(B) &S qUM () 319™ T 3faa
(C) At () =&t T

(D)  3T9-3eKa0fl (IV) TI9sh9gY o el

Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(L), (©)-(), (D)-(11)

(2) (A1), (B)-(), (©O-L), (D)-(1V)
(3) (A1), (B)-1), (©)-(V), (D)-()
(4) (A, (B)}-(IV), (O)-(), (D)-(1)

Options:

87827085429. 1
87827085430. 2
87827085431.3

87827085432. 4

Question Number : 123 Question Id : 87827021596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
THFW] AR B e 3T di TR gl Eal ol Siedl |,

List - I List - II

(A) @fem e O &<

(B) &S qUM () 319™ T 3faa
(C) At () =&t T

(D)  3T9-3eKa0fl (IV) TI9sh9gY o el

Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(L), (©)-(), (D)-(11)

(2) (A1), (B)-(), (©O-L), (D)-(1V)
(3) (A1), (B)-1), (©)-(V), (D)-()
(4) (A, (B)}-(IV), (O)-(), (D)-(1)

Options:

87827085429. 1
87827085430. 2
87827085431.3

87827085432. 4

Question Number : 124 Question Id : 87827021597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.
Tehd Ufed wgeH Fateredl Hal 3Tl a9 319 g sfeq wied! @
List -1 List - I1

(A) TSI Hewid () W
(B) YHvAr=A fHafar= Hevid (I o
(C) ogar=n Heufd (IT) TIfSfd
(D) T Hewld (Iv) Ffsa

Choose the correct answer from the options given below :
(1) (A)-0), B}, ©)-{1), (D}IV)

(2)  (AHLV), (B)-(IL), (O)-(1), (D)-(D)
(3) (AL, B)-(V), (1), (D)-(IL)
(4)  (A)-(II), (B)-(I0), (©)-(D), (D}(IV)

Options:

87827085433. 1
87827085434. 2
87827085435. 3

87827085436. 4

Question Number : 124 Question Id : 87827021597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.
Tehd Ufed wgeH Fateredl Hal 3Tl a9 319 g sfeq wied! @
List -1 List - I1

(A) TSI Hewid () W
(B) YHvAr=A fHafar= Hevid (I o
(C) ogar=n Heufd (IT) TIfSfd
(D) T Hewld (Iv) Ffsa

Choose the correct answer from the options given below :
(1) (A)-0), B}, ©)-{1), (D}IV)

(2)  (AHLV), (B)-(IL), (O)-(1), (D)-(D)
(3) (AL, B)-(V), (1), (D)-(IL)
(4)  (A)-(II), (B)-(I0), (©)-(D), (D}(IV)

Options:

87827085433. 1
87827085434. 2
87827085435. 3

87827085436. 4

Question Number : 125 Question Id : 87827021598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.
g feoem 2. St T B Wiecd ST aeE IR we Sl .

List - I List - II
(A) FIR G T () ek
(B) HFT@T@?{{ () R
(C) TSRl () A= 5
(D) el SHaE (IV) Titdehror

Choose the correct answer from the options given below :
(1) (A)), B-1V), (O-(LL), (D)-(IL)

(2)  (A)IL), B)-0), (O-1V), (D)-IL)
(3) (AR, (B)-(1V), (O)-{1), (D)-(L)
(4)  (AIV), (B)-(ILD), (C)-(1D), (D)-0)
Options:

87827085437. 1
87827085438. 2
87827085439. 3

87827085440. 4

Question Number : 125 Question Id : 87827021598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.
g feoem 2. St T B Wiecd ST aeE IR we Sl .

List - I List - II
(A) FIR G T () ek
(B) HFT@T@?{{ () R
(C) TSRl () A= 5
(D) el SHaE (IV) Titdehror

Choose the correct answer from the options given below :
(1) (A)), B-1V), (O-(LL), (D)-(IL)

(2)  (A)IL), B)-0), (O-1V), (D)-IL)
(3) (AR, (B)-(1V), (O)-{1), (D)-(L)
(4)  (AIV), (B)-(ILD), (C)-(1D), (D)-0)
Options:

87827085437. 1
87827085438. 2
87827085439. 3

87827085440. 4

Question Number : 126 Question Id : 87827021599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FAUGFR TG Tiasl g0 IR foeedn Hifscardl 4 e @E.

Choose the most appropriate answer from the options given below :

(D) (A), (&) B) ©) D)

(2) (E) (B) (A4) (C), (D)
(3) (D), (A) B), ©), ()
(4) (©) (A), (D), (B), (E)
Options :

87827085441. 1
87827085442. 2
87827085443. 3

87827085444. 4

Question Number : 126 Question Id : 87827021599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FAUGFR TG Tiasl g0 IR foeedn Hifscardl 4 e @E.

Choose the most appropriate answer from the options given below :

(D) (A), (&) B) ©) D)

(2) (E) (B) (A4) (C), (D)
(3) (D), (A) B), ©), ()
(4) (©) (A), (D), (B), (E)
Options :

87827085441. 1
87827085442. 2
87827085443. 3

87827085444. 4

Question Number : 127 Question Id : 87827021600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TER feeea SHeRtui=a T&ichi=A ISarsaval 4914 ¥ G5 7

(A) TRTRI BleTHeel <hieRuil W

(B) il SR SaTes

(C) ehichUll WIS SR

(D) iUl SRR

(E) hiehvlt 99 <id

Choose the most appropriate answer from the options given below :

(1) (&), (B), (©), (E) (D)

(2) (A), (), D) (B), )
(3)  (E), (B), (4), (D), (©)
(4) (A), (D), B), ) (E)
Options :

87827085445. 1
87827085446. 2
87827085447. 3

87827085448. 4

Question Number : 127 Question Id : 87827021600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TER feeea SHeRtui=a T&ichi=A ISarsaval 4914 ¥ G5 7

(A) TRTRI BleTHeel <hieRuil W

(B) il SR SaTes

(C) ehichUll WIS SR

(D) iUl SRR

(E) hiehvlt 99 <id

Choose the most appropriate answer from the options given below :

(1) (&), (B), (©), (E) (D)

(2) (A), (), D) (B), )
(3)  (E), (B), (4), (D), (©)
(4) (A), (D), B), ) (E)
Options :

87827085445. 1
87827085446. 2
87827085447. 3

87827085448. 4

Question Number : 128 Question Id : 87827021601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I 5 T

(A)  STaea T T TR YU ST SN BT e S e
(B) Sl AR v e T el

(C) V=N Tl Hfvar § 300 il fedat S X0 e el

(

(

—

D) Vg TR % i et AT T ey T AT e 1l = T e
) e i 31 €, 2% ) vl ST o 71§ Wi ST e

Choose the most appropriate answer from the options given below :

(1) (E), (4), (D), ), )
(2)(E) () (&) (O)
() (B), () (4) (O) )
4 (C) (), (D), ), (4)
Options :

87827085449. 1
87827085450. 2
87827085451. 3

87827085452. 4

Question Number : 128 Question Id : 87827021601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I 5 T

(A)  STaea T T TR YU ST SN BT e S e
(B) Sl AR v e T el

(C) V=N Tl Hfvar § 300 il fedat S X0 e el

(

(

—

D) Vg TR % i et AT T ey T AT e 1l = T e
) e i 31 €, 2% ) vl ST o 71§ Wi ST e

Choose the most appropriate answer from the options given below :

(1) (E), (4), (D), ), )
(2)(E) () (&) (O)
() (B), () (4) (O) )
4 (C) (), (D), ), (4)
Options :

87827085449. 1
87827085450. 2
87827085451. 3

87827085452. 4

Question Number : 129 Question Id : 87827021602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FBACH IATE] TS Hidhvi HATRE! IFASI STHTH FH T
(A) I A
(B) iUl hUTR
(C) SR 3t

DIREREE
(E) TF WA o

Choose the most appropriate answer from the options given below :

(1) (B) (4) (), (D), (©
(2) (A) (E), (), (D), (B)
() (B) D) E), (A), (©)
(4) (4),(©) (D) () B)
Options :

87827085453. 1
87827085454. 2
87827085455. 3

87827085456. 4

Question Number : 129 Question Id : 87827021602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FBACH IATE] TS Hidhvi HATRE! IFASI STHTH FH T
(A) I A
(B) iUl hUTR
(C) SR 3t

DIREREE
(E) TF WA o

Choose the most appropriate answer from the options given below :

(1) (B) (4) (), (D), (©
(2) (A) (E), (), (D), (B)
() (B) D) E), (A), (©)
(4) (4),(©) (D) () B)
Options :

87827085453. 1
87827085454. 2
87827085455. 3

87827085456. 4

Question Number : 130 Question Id : 87827021603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y T T AT FRIFCA] WA Tl TOhRia) A o G 7
(A) ‘STeam e’ % T, @, L3, e T [

(B) ‘U ST Ui I i HfeedE FEacH 7Y TR

(C) el STehreT=l ‘TT-HH' TR

(D) ‘" AR Ml Fell FBIRHE IHE ST [N

() . JoToR FSTSHR [OhR Fiehvit TTHA ARTGHIER

Choose the most appropriate answer from the options given below :

(1) (A) D) ) B) (©)
2) (A)(©) (), (D) E)
(3) (D) (A), () @) ©)
(4) (A) B) (€), D) E)
Options :

87827085457. 1
87827085458. 2
87827085459. 3
87827085460. 4

Question Number : 130 Question Id : 87827021603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y T T AT FRIFCA] WA Tl TOhRia) A o G 7
(A) ‘STeam e’ % T, @, L3, e T [

(B) ‘U ST Ui I i HfeedE FEacH 7Y TR

(C) el STehreT=l ‘TT-HH' TR

(D) ‘" AR Ml Fell FBIRHE IHE ST [N

() . JoToR FSTSHR [OhR Fiehvit TTHA ARTGHIER

Choose the most appropriate answer from the options given below :

(1) (A) D) ) B) (©)
2) (A)(©) (), (D) E)
(3) (D) (A), () @) ©)
(4) (A) B) (€), D) E)
Options :

87827085457. 1
87827085458. 2
87827085459. 3
87827085460. 4

Question Number : 131 Question Id : 87827021604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eiferd T Hifgcdr=Al SEv-STetiidl %H e,

(A) ToRI < HidT=A Bl STTeE 3TY IeaT oy ohel,

(B) WICEI TGN FoY a1 AT Sideh TR

(C) s, fomIR, 3HTes, hRifcedl I g SoRY WA i 31 W efme
(

(

o

D) ferd feie o st e siioges e,

E) O Wi oA gt el ferrreR dfemiiaear ek s
Choose the most appropriate answer from the options given below :
(1) (), (B), (D) (), ()

2) Q) (B) (4), (E) (D)
(3) (D) (@A) B), ©) ()
() (®) D) E) @A),
Options :

87827085461. 1
87827085462. 2
87827085463. 3
87827085464. 4

Question Number : 131 Question Id : 87827021604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eiferd T Hifgcdr=Al SEv-STetiidl %H e,

(A) ToRI < HidT=A Bl STTeE 3TY IeaT oy ohel,

(B) WICEI TGN FoY a1 AT Sideh TR

(C) s, fomIR, 3HTes, hRifcedl I g SoRY WA i 31 W efme
(

(

o

D) ferd feie o st e siioges e,

E) O Wi oA gt el ferrreR dfemiiaear ek s
Choose the most appropriate answer from the options given below :
(1) (), (B), (D) (), ()

2) Q) (B) (4), (E) (D)
(3) (D) (@A) B), ©) ()
() (®) D) E) @A),
Options :

87827085461. 1
87827085462. 2
87827085463. 3
87827085464. 4

Question Number : 132 Question Id : 87827021605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) =T ST

(B) Gl i A=A, HiF gHI=
(©) T

IREEIREEE]

(E) Wi

Choose the most appropriate answer from the options given below :
(1) (B), (O, (A), (E), (D)

(2) (D), (4), B), ©), (E)

(3) (O, (A), (B), (E). (D)

(4) (A), (D), (©), (B), (E)
Options :

87827085465. 1
87827085466. 2
87827085467. 3

87827085468. 4

Question Number : 132 Question Id : 87827021605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) =T ST

(B) Gl i A=A, HiF gHI=
(©) T

IREEIREEE]

(E) Wi

Choose the most appropriate answer from the options given below :
(1) (B), (O, (A), (E), (D)

(2) (D), (4), B), ©), (E)

(3) (O, (A), (B), (E). (D)

(4) (A), (D), (©), (B), (E)
Options :

87827085465. 1
87827085466. 2
87827085467. 3

87827085468. 4

Question Number : 133 Question Id : 87827021606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i g Hiedi! sRfeedl Jor= SSeIeHEvE] A 5 G 7

(A) 3 iR el e Hivel-oH FW

(B) sffwieey forrdt & diugdt ofe oM S1e9-TY,TY, T

(C) T Tyfuet 3t -3 H. Hfcirae

(D) ferexdl forfefimmat v feedl sifeame, shereral

(F) afeed fereddl fndifagm-2.ud, o fae s

Choose the most appropriate answer from the options given below :
(1) (4), B) (©) D) E)

(2) (B) (4) (O D) E)

() (), (B). (E) (D), (4)
(4) (D). (©) (B). (E) (4)
Options :

87827085469. 1
87827085470. 2

87827085471. 3

87827085472. 4

Question Number : 133 Question Id : 87827021606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i g Hiedi! sRfeedl Jor= SSeIeHEvE] A 5 G 7

(A) 3 iR el e Hivel-oH FW

(B) sffwieey forrdt & diugdt ofe oM S1e9-TY,TY, T

(C) T Tyfuet 3t -3 H. Hfcirae

(D) ferexdl forfefimmat v feedl sifeame, shereral

(F) afeed fereddl fndifagm-2.ud, o fae s

Choose the most appropriate answer from the options given below :
(1) (4), B) (©) D) E)

(2) (B) (4) (O D) E)

() (), (B). (E) (D), (4)
(4) (D). (©) (B). (E) (4)
Options :

87827085469. 1
87827085470. 2

87827085471. 3

87827085472. 4

Question Number : 134 Question Id : 87827021607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Wehd Yfedr=n S A d 0 G ?
(A) T

(B)
(C) *h
(D) e
(E) Pred

Choose the most appropriate answer from the options given below :
(1) (&), (D), (), (©), ()

(2) (B, (A) B), (©), (D)
(3) (D) (B), (A), ©), ()
(4)  (B), (A) (D), ©) E)
Options :

87827085473. 1
87827085474. 2
87827085475. 3

87827085476. 4

Question Number : 134 Question Id : 87827021607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Wehd Yfedr=n S A d 0 G ?
(A) T

(B)
(C) *h
(D) e
(E) Pred

Choose the most appropriate answer from the options given below :
(1) (&), (D), (), (©), ()

(2) (B, (A) B), (©), (D)
(3) (D) (B), (A), ©), ()
(4)  (B), (A) (D), ©) E)
Options :

87827085473. 1
87827085474. 2
87827085475. 3

87827085476. 4

Question Number : 135 Question Id : 87827021608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



38, Q4R T TR TR TR T S TG AT i g SRyl A Y G 7

Choose the most appropriate answer from the options given below :

(1) (B) (&), B) (C), (D

2) (D) (B), ) (), (&)
() (B) (E) (A), (©) (D)
4 () (B) @A) ©) )
Options :

87827085477. 1
87827085478. 2
87827085479. 3

87827085480. 4

Question Number : 135 Question Id : 87827021608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



38, Q4R T TR TR TR T S TG AT i g SRyl A Y G 7

Choose the most appropriate answer from the options given below :

(1) (B) (&), B) (C), (D

2) (D) (B), ) (), (&)
() (B) (E) (A), (©) (D)
4 () (B) @A) ©) )
Options :

87827085477. 1
87827085478. 2
87827085479. 3

87827085480. 4

Question Number : 136 Question Id : 87827021609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I 7 v e e O (A) o o ol e (R) 1 e feetl

Assertion (A) : ST TR TR forTRegeol 1 391 o SR vAveaaa) fovad
Reason (R) : WW@WM@WWWWW
TR e TR o e Tl 21 T A e

(1) (A) & (R) €7 R A (R) 7 (A) 3 A7 TR
(2) (A) & (R) €T R T (R) & (A) R T 77
3 (&) TR R TR

[ (AT PR TR

Options:

87827085481. 1
87827085482. 2
87827085483. 3

87827085484. 4

Question Number : 136 Question Id : 87827021609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I 7 v e e O (A) o o ol e (R) 1 e feetl

Assertion (A) : ST TR TR forTRegeol 1 391 o SR vAveaaa) fovad
Reason (R) : WW@WM@WWWWW
TR e TR o e Tl 21 T A e

(1) (A) & (R) €7 R A (R) 7 (A) 3 A7 TR
(2) (A) & (R) €T R T (R) & (A) R T 77
3 (&) TR R TR

[ (AT PR TR

Options:

87827085481. 1
87827085482. 2
87827085483. 3

87827085484. 4

Question Number : 137 Question Id : 87827021610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR 7 T e el W (A) T forem o i (R) o fore fe

Assertion (A) : o T T} Pierae TRl Sfoe ST, 1934, =0 e < A0
el TR e, F, o, TG ¢ AR AP F 90 Hed

Reason (R) :  7#foff o= T A1V e 39eA) TG, 0 0l Tedd o o4 v
T, W0t 79 TR 7 3 e e A R T e
A

T feee foea et e e 274 VA e e

(1) (A) & (R) € R A (R) € (A) = A SRR,

(2) (A) & (R) < SRR 01 (R) T (A) = SR TR 2,

(3 (4) T R) AR

B () F R TR
Options :
87827085485. 1
87827085486. 2
87827085487. 3

87827085488. 4

Question Number : 137 Question Id : 87827021610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR 7 T e el W (A) T forem o i (R) o fore fe

Assertion (A) : o T T} Pierae TRl Sfoe ST, 1934, =0 e < A0
el TR e, F, o, TG ¢ AR AP F 90 Hed

Reason (R) :  7#foff o= T A1V e 39eA) TG, 0 0l Tedd o o4 v
T, W0t 79 TR 7 3 e e A R T e
A

T feee foea et e e 274 VA e e

(1) (A) & (R) € R A (R) € (A) = A SRR,

(2) (A) & (R) < SRR 01 (R) T (A) = SR TR 2,

(3 (4) T R) AR

B () F R TR
Options :
87827085485. 1
87827085486. 2
87827085487. 3

87827085488. 4

Question Number : 138 Question Id : 87827021611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T I 4T Fe il W (A) o ferim Tl i (R) @ T fee

Assertion (A) : WWWWﬁﬁWWWWWWWW
Reason (R) : & THA & STeaie el AT eyt Seifeed e o7,

T T T, 4 e e v e o e,

(1) (A) 4 (R) I TR A (R) £ (A) A7 TR,

(2) (A) & (R) <A SR 1 (R) 7 (A) & TR TR 77

(B) (A) TR (R) T

Y AT R TR

Options:

87827085489. 1
87827085490. 2
87827085491. 3

87827085492. 4

Question Number : 138 Question Id : 87827021611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WA G oo fe il T (A) o ferm ol e (R) @ T fe

Assertion (A) : WWWWﬁMWWWWWWWW
Reason (R) : ¢ THTAVI & T el T oo STINeed ohed ST

T T TR, 4 e e v e o e,

(1) (A) @ (R) 3 TR A (R) 2 (A) A7 TR,

(2) (A) & (R) <73 SR 01 (R) 7 (A) & TR TR 7

(B) (A) T (R) T

§ AT R T

Options :



87827085489. 1
87827085490. 2
87827085491. 3

87827085492. 4

Question Number : 139 Question Id : 87827021612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@R 2F faumi feeaid -

faema 1:  "iepescra wy &= ‘o’ € kel Shidia Sre.
faams 11: @ o@s H9E gl Hiess Tl 2.

T faumT=a SRR Hehded THiaidal wiel O o9 HIew.
1) foum 1 3 faem 11 st

(

(2) Taum I s1ofi faume 11 9

(3) Taum 1 =R faum 11 9+

(4) Taum I 9% A faem 1 se)
Options :

87827085493. 1
87827085494. 2
87827085495. 3

87827085496. 4

Question Number : 139 Question Id : 87827021612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



@R S fagm feewid -

fasma 1:  "iepossr™ Wy == "=’ € kel shidia Sre.
faum 11: @@ orEes w9= v gHiEs AEEl =,
T fardH=a1 STRRA Fehdcd Yaidal Wil @1 9= shiSr.
(1) Taum 1 3T faem 11 st

(2) Taum 1 soit faum 11 9

(3) Taum I seR faum 11 9%

(4) oo™ 1 9% ST faum I sty

Options :

87827085493, 1

87827085494, 2

87827085495. 3

87827085496. 4

Question Number : 140 Question Id : 87827021613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 7 fee T -

fum 1 & A9, e O A YR e T A% R T 3T S
T 1 A TR

ot 11 T YRR e g et €8 00 i 21 STl o] T 1% e 0
THTH ¢ S TG 1 ) o, Y9, A9 3R el O o Wl ¢ T o
S0 ofYve AT,

9 A T e Tl el f 4 e

Options:

87827085497. 1
87827085498. 2
87827085499. 3

87827085500. 4

Question Number : 140 Question Id : 87827021613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 7 fee T -

faum1: & 91, Fercrt & e Ve oA T A R T S e <
e BN ke

ot 11 T YRR e g et €8 00 i 21 STl o] T 1% e 0
T 7€ SR U il 7 o, W1, oo 49 el O o THIOee) € 5o o
s e S

9 A T e Tl el f 4 e

(1) fom 1 47 foe 11 o

(2) foum 1 4 foem 11

(3) o 1 aeR fa 11 7

(4) o 1 9 ) faem 11 sl

Options:

87827085497. 1
87827085498. 2
87827085499. 3

87827085500. 4

Sub-Section Number : 2
Sub-Section Id : 878270957
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827021614 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



TR Feett Y ATt AT, Freveean ettt oot e,

HET AT

TR, S TR0 9, S ST ), e G ) T T g, e v
TR ey R e 7, ) ATl ) S IR 1 A ST, 1 @) 7 o
TR () 31 ) TR T, ot T i G g ¢ e ) o P e
Y19 R, U Y R, e T Tl e, Vel T, i ) 51 e
T YR, A i foTe e o G (R i) TR e SR, -
G ool vt e ot e A e i M M e e
" A A A g A, A o e Ws, S e
e T, TR el e eaehard &l TSl et (e e A 1 ) #ferre a7l
| 1 ¥ a7 g e, T ‘w |  ofovl e "o ) SRR o
ST S, T R T e e A - o ST A e g e
Y S T, SYWE-3TgA (VTS AT IR SR AR A e
e e b R R e G P e e A e o R
ST TR S e 2o ) roqieediend e

TR e 1, 90 7] 1 4 oo e o ) o o e oo w0 g
e W, o aTe ol T, oA, 98 ) evg oA gl et T 3

Sub questions

Question Number : 141 Question Id : 87827021615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SreGId SiT=A1 YHETee g ©a e Heael 7
(1) <M HSAdedl TR FoRiid

(2) JAr HeaEe g g

(3) W Heeel A= R

(4) T=H HEwad A Y

Options:

87827085501. 1
87827085502. 2
87827085503. 3

87827085504. 4

Question Number : 142 Question Id : 87827021616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
o% AT HATA! HIATHHRATE idedl hivl deEal ?
(1) =

(2) ToE=
(3) SEIY U
(4) =<

Options :

87827085505. 1
87827085506. 2
87827085507. 3
87827085508. 4

Question Number : 143 Question Id : 87827021617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

HrGide! WAl Yol W SREFATT ?

(1) ST o
(2) SU:
(3) HEd e
(4) =gH
Options :

878270855009. 1
87827085510. 2
87827085511. 3

87827085512. 4

Question Number : 144 Question Id : 87827021618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FAS Bl fohe T ol SITedTd ?
(1) SAASR =S

(2) ISTEAT HIUT

(3) A1 Ferii=l TEAT i

(4)  HeTHTSH HIYI

Options :

87827085513. 1
87827085514. 2
87827085515. 3

87827085516. 4

Question Number : 145 Question Id : 87827021619 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘rag’ 8l U -

(1) == Uy
(2) <HIEEUY
(3) EEEY
(4) e
Options :

87827085517. 1
87827085518. 2
87827085519. 3
87827085520. 4

Question Id : 87827021614 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



TR Feett Y ATt AT, Freveean ettt oot e,

HET AT

TR, S TR0 9, S ST ), e G ) T T g, e v
TR ey R e 7, ) ATl ) S IR 1 A ST, 1 @) 7 o
TR () 31 ) TR T, ot T i G g ¢ e ) o P e
Y19 R, U Y R, e T Tl e, Vel T, i ) 51 e
T YR, A i foTe e o G (R i) TR e SR, -
G ool vt e ot e A e i M M e e
" A A A g A, A o e Ws, S e
e T, TR el e eaehard &l TSl et (e e A 1 ) #ferre a7l
| 1 ¥ a7 g e, T ‘w |  ofovl e "o ) SRR o
ST S, T R T e e A - o ST A e g e
Y S T, SYWE-3TgA (VTS AT IR SR AR A e
e e b R R e G P e e A e o R
ST TR S e 2o ) roqieediend e

TR e 1, 90 7] 1 4 oo e o ) o o e oo w0 g
e W, o aTe ol T, oA, 98 ) evg oA gl et T 3

Sub questions

Question Number : 141 Question Id : 87827021615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SreGId SiT=A1 YHETee g ©a e Heael 7
(1) <M HSAdedl TR FoRiid

(2) JAr HeaEe g g

(3) W Heeel A= R

(4) T=H HEwad A Y

Options:

87827085501. 1
87827085502. 2
87827085503. 3

87827085504. 4

Question Number : 142 Question Id : 87827021616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
o% AT HATA! HIATHHRATE idedl hivl deEal ?
(1) =

(2) ToE=
(3) SEIY U
(4) =<

Options :

87827085505. 1
87827085506. 2
87827085507. 3
87827085508. 4

Question Number : 143 Question Id : 87827021617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

HrGide! WAl Yol W SREFATT ?

(1) ST o
(2) SU:
(3) HEd e
(4) =gH
Options :

878270855009. 1
87827085510. 2
87827085511. 3

87827085512. 4

Question Number : 144 Question Id : 87827021618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FAS Bl fohe T ol SITedTd ?
(1) SAASR =S

(2) ISTEAT HIUT

(3) A1 Ferii=l TEAT i

(4)  HeTHTSH HIYI

Options :

87827085513. 1
87827085514. 2
87827085515. 3

87827085516. 4

Question Number : 145 Question Id : 87827021619 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘rag’ 8l U -

(1) == Uy
(2) <HIEEUY
(3) EEEY
(4) e
Options :

87827085517. 1
87827085518. 2
87827085519. 3

87827085520. 4

Sub-Section Number : 3
Sub-Section Id : 878270958
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827021620 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (146 to 150)

Question Label : Comprehension



TR et FAeT e AT Fareiecen et e e,

Tlo TIRHTTATaH Hele 1 TR T @A o) TRV SfeFTUetal aaee e fecit o
T, PTG TR 520 1 %, T 7 ST et o e o TRV P T
Sy A, e AT R gt o il 5T A 3 e et & el
A, Tl St 7Tk ST, T2l TG e SIae Wlo HERTRIed) e T i
T 1 S el ST, i) e e ) e S, e, e e o
feo TRt o Tl e o ) T 7 e e s, et P, o U
TR S0 2F et 3 S TeVerT, Wi el TR e A Aereds Tl 2 e
0 S RN T Ward, 2 T el AT, A 21 T 9 e YEeTm) o, T
FEe T A cAtae Mo AEARE) T od AVE o, WA WWeds oA
Y 1 07 <11~ T I ATl T e 9 ] Terd TR oo BTroe, MGt
A G S IR ] ORGR 187 SET, a6k 41 T, o ORIl 1o UerTed
ST 7 TS HIe At 0l T gt 4, 4 el (‘) et fol 72
T 411 U 42 ST

Tlo TR V0T T2 PR i et e St e 7, e e
T W 1, f T SR et SR, A i W e 9 S Sz e,
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Sub questions

Question Number : 146 Question Id : 87827021621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ALHIRTS FCHE g1 Hed fohe e ?

(1) TR g: @1 9IgA dre e AL

(2) Thardesn 9 A fega sheelt T

(3)  TiATdeA e Afcieedl TRl Sitaagardl Jed.
(4) HHBIAM HARRFRST W HLAE di=l e,

Options:

87827085521. 1
87827085522. 2
87827085523. 3

87827085524. 4

Question Number : 147 Question Id : 87827021622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

B Idedl GHigeh® ASHURIE=A HadseH wHel feeerdl Sefl ?
(1) dI=A1 6Tk HALTE S0 §9eh A1 374,
(2) di=An e frgean afi s e .
(3) TR ST STareds = d .
(4) dI=A A HAH & T FHeh A,
Options :
87827085525. 1
87827085526. 2

87827085527. 3

87827085528. 4

Question Number : 148 Question Id : 87827021623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

LU TCHHEAI Sl T WA= TSlleiih AR 3Tehieh STfd ?
(1) el fesmomes e

(2) SFeUERE T FfHAT & dishis @A

(3) STERYR aUEIcH AR

(4) R T T o= (A sfied |

Options :

87827085529. 1
87827085530. 2
87827085531. 3

87827085532. 4

Question Number : 149 Question Id : 87827021624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

iRl A1 G I STl HfEerdyel 7 Hoau o fog 2

(1) TRHORTEe TeRgEaOTH ST Faarel Teiiee.

(2) TIEHURIE SIY HITA ferar shtdrel G g TR SR de F4 A,
O ER EREEETL c eaHE R e M

(4) I HU TG HL il TGk Hebeh el .

Options :

87827085533. 1
87827085534. 2
87827085535. 3

87827085536. 4

Question Number : 150 Question Id : 87827021625 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

CIEFURTETA] el SATRel SHevid A 3l el Gl Wi ol

Options :

87827085537. 1
87827085538. 2
87827085539. 3

87827085540. 4

Question Id : 87827021620 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



TR et FAeT e AT Fareiecen et e e,
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A G S IR ] ORGR 187 SET, a6k 41 T, o ORIl 1o UerTed
ST 7 TS HIe At 0l T gt 4, 4 el (‘) et fol 72
T 411 U 42 ST

Tlo TR V0T T2 PR i et e St e 7, e e
T W 1, f T SR et SR, A i W e 9 S Sz e,
YT ‘et 3 1 TG YO A, T e T 9 RO A TR A, i
el

Sub questions

Question Number : 146 Question Id : 87827021621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ALHIRTS FCHE g1 Hed fohe e ?

(1) TR g: @1 9IgA dre e AL

(2) Thardesn 9 A fega sheelt T

(3)  TiATdeA e Afcieedl TRl Sitaagardl Jed.
(4) HHBIAM HARRFRST W HLAE di=l e,

Options:

87827085521. 1
87827085522. 2
87827085523. 3

87827085524. 4

Question Number : 147 Question Id : 87827021622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

B Idedl GHigeh® ASHURIE=A HadseH wHel feeerdl Sefl ?
(1) dI=A1 6Tk HALTE S0 §9eh A1 374,
(2) di=An e frgean afi s e .
(3) TR ST STareds = d .
(4) dI=A A HAH & T FHeh A,
Options :
87827085525. 1
87827085526. 2

87827085527. 3

87827085528. 4

Question Number : 148 Question Id : 87827021623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

LU TCHHEAI Sl T WA= TSlleiih AR 3Tehieh STfd ?
(1) el fesmomes e

(2) SFeUERE T FfHAT & dishis @A

(3) STERYR aUEIcH AR

(4) R T T o= (A sfied |

Options :

87827085529. 1
87827085530. 2
87827085531. 3

87827085532. 4

Question Number : 149 Question Id : 87827021624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

iRl A1 G I STl HfEerdyel 7 Hoau o fog 2

(1) TRHORTEe TeRgEaOTH ST Faarel Teiiee.

(2) TIEHURIE SIY HITA ferar shtdrel G g TR SR de F4 A,
O ER EREEETL c eaHE R e M

(4) I HU TG HL il TGk Hebeh el .

Options :

87827085533. 1
87827085534. 2
87827085535. 3

87827085536. 4

Question Number : 150 Question Id : 87827021625 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

CIEHONTET=A Shedet] SATekitEl GHaYid S §Tell ol oAl Wiefcaehrehest o
(1) IFEg FEeMET.

(2) A TR,

(3) FEHE <y,

(4) TfE AR,

Options :

87827085537. 1

87827085538. 2

87827085539. 3
87827085540. 4



